Addal2417

@ '
MPSC CIVIL SEZ%ICES

PRELIMS EXAM 2024

MPSC ZIUfAd STRTE ddT Tg<h
qd udlan 2024



https://www.youtube.com/channel/UCIK5xgCmsVebadEfBlxaX7g
https://play.google.com/store/apps/details?id=com.adda247.app
https://t.me/Adda247Marathi

Addal247

Decoding MPSC Civil Services Prelims Exam 2024
MPSC TSI {3d TR 9T G343k Td T 2024 fagemas

HETITY AT STTRT 3. 08 7 2024 TSt MPSC TSTIT3d AR HAT §4<F T8 TEeT 2024 AT STTE=aT STaie heft
L. IHIATT AT @1 MPSC TSTa(1d AR HAT §4<6 T8 THeAT 2024 STTE=AT A7 8 qaefier ToTe eI

MPSC TTSTIT AT HAT 36 TF T0AT 2024 ATE=AT: HgmaaraT
ufy LRI AT
ATRT 419 TETITY ATHEET ATTRT (MPSC)
T AT Te A F T A Afag a2
EERIEDI EIECIEL
TR T 524
EEIEEIE] MPSC TSI AT #AT F3h T TEeT 2024 SAfere=ar
ST & IoATH T AT 09 2024
AT FLOATHT AFeHT AT 2492024

MPSC TSI T AR 44T €< 948 T0ET 2024 Hg<ar=a1 aIie

MPSC TSI {3 AT & Hh T8 TEEAT 2024 ATEE=HT AT8T AT 3751 09 7 2024 ITEH & 972 3778, MPSC TSI =
ALY AT HI<H T3 TEHEAT 2024 ATEF=T Saefl 99 Tgear=a1 @l Trel @Teriel TaRcaTd ITg eI,

MPSC TTSTITE AT HAT 36 I3 TEAT 2024 ATER=AT: Fgear=ar arear
FTAFH GIRAEC]
MPSC TSI T a1 Sk Td TXET 2024 T =T 08 #2024
MPSC TSI AT a1 9k Td TET 2024 ATATST 151 % 0aT=[ arira 09 #2024
MPSC TSI T EaT S0 T3 TLHET 2024 ATATST o151 FL0ATH[ A=l air@ | 24 72024
MPSC TSI AT &aT S0 T4 TET 2024 06 ST 2024
T[S HAT =T TEHeT ara 2024 14T 16 RHaT 2024
HEITY SATICT SATHATIET AT q&7 74rer 2024 23 ATegaT 2024
HETY AHaT &7 T4ET1 2024 28 7 31 fRHaT 2024
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MPSC TS IRTE qaT 636 79 7047 2024 R

MPSC TSI AT EaT §3<h T3 TXET 2024 N ST Ta9ie @re i # oy 3fe.

SEL frae

TSFEET 431

HETATY TATIe STTHATEEhT JaT 45

WETTY ATHAT 48

TR 524

TRTETE qUTAaTe o SIRT=T auefte @refier aacaTd (ST arg,
T, LKL R
qSI9AT (431 9%)
1. LUEAEEIL I PRl 52
2. HTETF GATerh, HgTTg & & o &ar 43
3. TETIT AT hH/ Tohed ATARTL 03
4, I 3T GATAh 07
5. ST HTHI A 02
6. HATAA AT hef srfersr<y 19
7. CRER AN I BEAEA] 25
8. I T h, TS IcqTad [h 01
9. Frere Tt TSI o SATSThaT A TG ST AR 07
10. LR FIHITT ATAHTLT 04
11. TETIF Theq AfeHTLTr/ Tifeaehy stferprdt/ wormaehr stfersrrdy 04
12. fALreror srfaraTs (qeaen) 76
13. 37 Rregriarart 07
14, LT TS ATh 116
15. T ATH e To=rs, TS T JATSTHAT 01
16. 3T SefTerh, T5T AT o 05
17. SR AR (FTF) 07
18. TETAF Tohed ATeranT (Forerom) 52
HETY F9H4T (43 U%)
1. HETIF TAHLETh 32
2. ERRGERIE] 16
HETATY TATTC ATHATET 74T (26 T%)

1. SUTETRI STAHETIOT AT (FATT) 23
2. STARETLOT SATEHRTLT (FATIH) 22
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MPSC TSIT TRIE §AT HY6 T9 TOAT 2024 9747 A9

MPSC TSI AR #aT S0 99 TLET 2024 G151 RH AT STI0TH 99 TRH1S1 9T Taam Had qareor
ST ST, ST ATEATOT qT=dT, FATHATET AT AT 2T, MPSC TSTafard AT HaT §3<h T3 TL1ET 2024 975dT Haw
GTATATHTT 3T,

CILIEETC
o IHTATY ATLATHT AT SHTET.
TITST AT ST 9T

ERIERIE]

MPSC TISTIT3Ia AT AT Hh T3 TEEAT 20248730 TaTTaTe aF I a1 Gre Ty Ty 3,

o FATHATET TUT0ATHT faATH-
o A& srferTdt /A AT, Te-a avTadT Za¥ 94 gaarst - s 1 i, 2024
o fAdrerur sfererTdt /afidee At Te-a - feATE 25 STHaTd, 2024

o FATTAN-187 38T

o WNTH T -19T 4334

o TBHIE-19T43aT

o &AM -19745a°

o IITEA AU, FTATT Termae FEaT T, i aiva 2023 /T.%.14 /F1A1-12, a1 03 AT, 2023 ATETE FHTA A2
HEELESEIR T PERIELRIER L F

Srerfor s
e iC -‘ﬁ'&‘lﬁﬁﬁﬂé‘cﬁ
eI 99T, Agrag Ao aaar | o #ifafars fHamdiesr=, ffram w« ewrrag arfores eme=h sraes e, et
GEIRICE ) o TIEEIE 3T ATEE AFHISeH ATE SIEAT TTHT AAAAT AAGT AGTATATHT ST
T 3T far
o zfimaye A% Ft 3lve o SEimed AT STAIST Ferel qfvErT
AETATETHT S TH TEreAT IO fohaT

o Hitaters =it arforsy Aefier qa=a aadl, fHar
o AT AT T a7 TRTR=AT ATAATITH HEATA (o SHaaTT Tamae
7 AT dHg T8 9edl (THALD).

IR 3T HATAF, T, T 3T o Hifafes fEamiier= afv=iEet qedier (Famaey Attt Ta= eI
srtvartrEenT wefter fararr=ar wreteft seer sraereaT areqie=T, TT=aT sTar
FArrertatis) far aasmareie aedt e

o T et Fifafers emfer= uadt.

EERECE LD o Grefter fAwETaY FHa T Ut A= araarre st aeet -

(1) FTETATITE (2) TEITATH (3) FTATH (4) FATH (5) T (6) A TehermaT

(7) FitiEehT (8) WTTUrermaT (9) ST E=T (10) THALT o TEAHATH Fhar

o FA, AfEiREft aTeier wra® wEEaT
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Srerfres e

EECERIE

FACTATT, TETIALTS, aF9TE, AT, IT(00d, AdReTe, AT,
ST, ST 9T, FIUTE, FIT ATHATER], THAA ATHFTEE,
StvErit=ent, = afeiteE, s Aftashed, §orh f&sme, e
s, e BE Fraehr worTer AT giftatew Frrdter
IEEIERICEIRECIREEI]

s amersta i Tav arEdie T BuEmEg wS raE, (q9) TEE
qTEATINTE AT T T fAvame gedtad IHearad s
TR I WL QTATT STHTOTTS THEAT ITATOT ST AT 37T,

AT 9, HgHA & a9 (S, FHFis THUAE-02 /15 /9.H.46 /F-4, Tadi 11
HIAT, 2016 THATT TAFEI T ATTOT STTHFL AR ATHATIRT Ta= T
e & g Aty sreft SIEar vy FOY IHEATT Aqe=ITT
TRTETST ST HLUATH T Wi

T I, g T a9 [T, FHi: THUEEr-09/18/9.%.366 /%-4, faiF 8
qeeay, 2021 =3 ITH ATTATATIA @I [aTeTadie Taale? SHEa
TEATHET TOTT T S ITAT0T ATl STEATH F IF HTLATHE ATATT THTTTT
T AR AT AT AT Ha /IETETS qT e - (1)
BE/B.Tech. Automobile Engineering, (2) BE/B.Tech. Power, (3)
BE/B.Tech. Production, (4) BE/B.Tech. Metallurgy and Material, (5)
BE/B.Tech. Textile, (6) BE- Information Technology, (7) BE-

Instrumentation, (8) B.Sc.- Biotechnology, (9) B. Pharmacy, (10) B.Tech.
Food Science

T AT FraT T8

AT FErem e wmrer stteaiEet gefter aeeft fFhar gy g
T qEATeT THIET AqATH T hefel T Tod ST

omae Aol 3g = = foreror foramn, #wwiE |@FRT-2013/ (45/13) /9T
1/aita-2, faaisw 18 sif#erEy, 2016 THIX @IS efors Agar T
ATIITEERT Tt reTEERaTe aHdeT sed:-

B.E./B. Tech. (Civil and Water Management)

B.E. / B. Tech. (Civil and Environmental)

B.E./ B. Tech. (Structural)

B.E./B.Tech. (Construction Engineering/Technology)

O O O O

T srEar

&Y IHIATC R IAT AT SARETTSR AT

1. TAHLEAF, T

2 AT, TE T

AT STHTAT A TA T 7T IHIATL

IHT- 163 HHT. (FFAT0N) (FHIT FH) | 39T - 150 F.:1. (sraof) (FHra
BIR- F Faar 79 AT, (FHrT w4 | FH)
FTAATHT 7 dT- T Faee ! gram 9
FAAAT GIdt AT B 5 F.HT. TeqT
FHT THTET.
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EHEEIE] TR IHIATIHIAT AigeT ST iar
AT STHTAT FaTTq T SHEATT
IAT - 152.5 Y. (aTf) (FET | ST - 145 F.H. TeAT FHT AT
FH)

BT - 7 FITEar 79 FAT. (FHIT F)
FATATITHT & HAT- 7 FEAe] St a
FRTECTAT STl AT e 5 &4, TeqT
FHT FHTAET.

ZT ;- gATRUHAT (After Correction) + 4.00 OD &g T4 SI@ATHT gIod1&aTdT
(Visual Acuity) 6/6 SHTET. ATE[ STBHATAL HIVTAG T LT HHHT ST TET (HaT
=TT A= .

TETAF: ATHCEAT, Te-3 FLAT T2 T AigaT IHEATET oI wH 25 FhdT. 7 14
o . i< AT T AT T FX0ATHT TR STHdT STE SAaeTe,

AT, TTe-T [T F ATZAT SHEATLHT SIhH 25 AT 7 16 AT faw 9w
AT AT IO FHLOATHT QT STHAT STET SAFLTF,

MPSC TSI T ARG §aT €3 49 THET 2024 T8 TE0

MPSC TISTIT3ra HaT 08 TLrerAed 400 IOTTETST 100 T Fa=meet STara. Yo ehi=aT STTarat Uk Jqaier (1/4) AT
BIATd. T9¥ 1 (GS) Hed STAgTH, ITTe, THTa0T, TTSTLTA, ST, ATHT=T (a1, 7] JAETHIST, Tora Arfor Figaar g ooy
AT T U 2 T (CSAT) BT ARTATHIT (Qualifying in Nature) 3Tg. MPSC TSI ATVIET &aT H3<h T9 T<eT 2024
AT T8 TET Greite qercaTa faer 3e.,

A 5. GEL] T NG [T Ta8s | garaEd= o
ERCER T
1. TrSTEET I @ TS T 400 800 100
2. TETTE BTt A dar | FAa T T 400 50
3. AT a=&ar 400 50

MPSC TSIIAd FRTE §aT S0 76 TOET 2024 F¥ITHHA

MPSC TSI T a1 S0 T3 TEET 2024 FT3T 9T 1 ATT07 902 2 =T ST ITEHH @It Fraedq? qur faer e,

YU 1 AT S ATHHA
MPSC TSTa3Ia HaT Terdefiie Hefler T9¥ 1 97 SAATHhRT T ATHT0] 3772,
T, v
1 T, T T ATLEIT Heea =41 AT TSTHIS,
2 AT (A28 o AT TP Ao dD, HgRIgr=aT AIi9TEE.
3 HETTY, AT o ST SR - AT, ATLATAT 9 SWTET ST o, THTSE, AT .
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qH. IELR)
. AT AT AT TISALATE o TATH A&, TSl TOTTeAT, THTAAT TIST, AT T, HTa S+
£IToT, ga; ferere oy e,
5 st 7 ATl AT et fareme, i, auTerer™, ATRATET, STHTRR ST SUHT TATAL.
¢ TTar Tt fRerd iy, St fAfareaT snfor garmm T aae Aradier aaTeTor 57- AT A freras = et
GIEL
7 GICIAEEIG
YU 2 9T AFATHHH
MPSC TISTIT=Ia HaT 08 TS AT TI¥ 2 9T T¥ATHHRT GTA [ATHT AT,
T, ELR
1 Teheld
2 HATE FITTTEG SATAL S THIA T,
3 THYF T ATTOT TS TOITeH SHaT
4 ooy exwrar sfor sweT Ao .
5 TAHTLTIOT AT O ST
¢ Heb HEATAT (3 AT T Ha e, TRATATET 7 ScaTal) (ST Fgrdt saeradiar), FEar sas (a<,
AT, FHISF, FA=T TaTHar ATar - TIAT Tt Tqaaradia)
7 TS ATIOT ST SATHT ATHAT 9T (TTAT IgTAT /AT TLTALA)

MPSC TSI T ARG Qa1 €< 8 THET 2024 I3

MPSC TISTI3Ia AT AT H3h T3 TEeAT 2024 TT3T T SaTA0iT Grefiel TaFTd (aell e,

A, EHEKIC] Fa aoft
TSIHET (205 %)
1. | I e FEEET At/ Te fFemme sfeerir S-20 56100 - 177500
2. mﬁw,mgﬁﬁaﬁww S-2056100-177500
3. ERRENCIR Y FEX 1D ETE] S-2056100-177500
4, I 3T G116 S-2056100-177500
5. TETIH FTAIL A<H S-18 49100 - 155800
6. HATA T faramTTater et srferanT<r S-17 47600 - 151100
7. wﬂ'{ﬁ?ﬁrﬂaﬁmﬁ S-1541800-132300
8. | WETAF AT, TT5T ISATEHA [ $-15 41800 - 132300
9. F19re T, TS F SRS T ARG 9T STfersT<y S-1541800 - 132300
10. LRI FTHITL AT S-1541800-132300
11. | 92T Yo AT/ Fifeasht ATt/ Tomeahia steemet S-15 41800 - 132300
12. Areror erfaerrsy (qz=3m) S-14 38600 - 122800
13. | 3 Sreetfemr $-2056100 - 177500
14. HEZTh ST A<h S-2056100-177500
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qH. LEEEIC Ja= goft

15. wmqﬁgwﬁm,ﬁwaa—gﬁw S-1849100 - 155800

16. gqaaﬁ‘azﬁ,rﬁqgeqmw S-1541800-132300

17. gﬁvaﬁmﬁ(ﬁrﬁ%ﬁ) S-1541800-132300

18. T Tohed AT (fs}r&]’uﬂ S-1541800-132300
AEIUY q794T (43 %)

1. ST TTHLET $-2056100 - 177500
2. LR ERIE S-16 44900 - 142400
AT TATYCT ATHIATHRT 44T (26 T7)

1. gqﬁwﬁwwwaféﬁ(wqaj S-18 49100 - 155800
2. STAF LTI TR (A1) S-1541800-132300

MPSC TSTIAT ARTE QAT S T3 THEAT 2024 37T [

MPSC TISTOT3ra AT AT T3 TF TEeAT 2024 T3 SAE9T 3151 Qo TATHTE GTeAT ST AT 372,
o IYTEIT (GAT): 544/- 79

o HITHEITT, ATTIF T ek, SATA T (AT 344 /- T4

o IULIH TLIEAT S[oahT S TATITh o {[ooh T8 ATANT ST ATk STEAT.

o TOHT [ AT-9ZaraT (Non-refundable) e,

A

'MPSC GROUP
B & C 2024

qFT OF qETT
27 Total Tests

Test Sees.

A

A

MPSC GAZETTED
CIVIL SERVICES 2024

A I T

e Al

HIEH COMBINE | ifom asadar 203¥
MPSC Pre P L el TR

Live Classes + Test series MPSC Made Easy

(99T 1 3rfor 9u 2)

. 20 Total Tests
E35TGE &5

/ 7 ‘ 5 L
4 A £ N A

Starts: 15 Mar, 2024

Test Series

Recorded & Live classes
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:
gAY FEcTehl Q17 3
U -~ . :
O
T 9 : 100
D : 2 () T, _ URUT T[0T : 200

(1) T FEY&Thd 100$ﬁaﬁmmﬂ.ﬂwmm%ﬁaﬁiﬁtr%wuwammw
wd e 3TRa e T I @t e e, a@e 3t A A Ageead i SR dEE A
H‘ﬁ?wmﬁ’( T8 -3 *'-f* ‘

(2) 3T9en SliEn-sETh B ST A famra atena fergmn,

m. -, —

= . T.-—. sl

(3) W BN SRR s e Itk fafire Sift IerafeRadier gEAsH A farera wHg .
(4) (31) T yYfEHdia IS e 4 G I gafael! 3Hd M 1,2, 3 3701 4 37" HATH i
HE

FOE1. I TFR ITWAHR IT-FHh Tg HWAHET d Fafud JH-HHHEAN BEThd —
ZSifaen TSeT I sl TATE). TR Ta e IITEd AicTuq aTadd, UiRe a1 vIisd U a1ae 4. <
(F) STERTR v T T aRiR S weaw fafia St TR, v e wee v i i | gy -

(5) TS FIER1 HHME U1 H1Rd. Irad Td WEATE] I UG, U1$HS el IV AT ATl G&dT U3had v
A 33 994 H1291dd. A U3 SISfau gt T8 YU UErel U9 SHalul Seedd ek 98 7
Ot GETA T9AIehE Tei. T FHR Saeed] ST UeiEeaHa de fHees Ulgears s rmum

;
:
:
E

6) TATIEA Ul TG Ferel I GISd1 U ATE]. TG hetet I Wied FoAM I e @ q9ret o
(7) Wﬁmmmmmmmmmﬁﬁm -

yyen] RITEA1 IAATAFA ATEfadeal e genred] ITTard 25% foan 1/4 1o & /& aoama ade.” |,

|mmra'ma mmmmmmammmmaﬁmmmw| g

S T4 7. 1 A7 Aada aa g ua /ud, faa wa segfaddie e st o e Ses a1 st
) i gian, waa ufag @0 o T S S FA ERoTa s IR T e e foT R
ey gavaraEadl siufaan-s2" adiE AR Y TeiEd ERaTe adER EREE ERea A5 3 g Sadl SEE U6
adiea ararared Ao /fa #94 U, gAN WA eI foera um gida.

mamimﬂmﬂmﬁaﬁwwnhﬁwm HATUGHAYU A0 g1 G TR S A SHTUTH Sadl JrrTe
wdamgaiad, aad uhgeal ydagdragaiad) saeh afifi s wadhfasg saa sfufanran wrad s 299 3 3

i s foaa ﬂrﬂ_ﬁtﬂ- _ _




3 Q17

1 T AT T ST SR ATeAre Hoen VA Uh HewmR Hes A,
I TIAIAUh! Hr=n quRy 8 ?

i, S A M, T
ii, . AW, S, WTSHE
i, g %, &, dem
V. ET"{\E& i
(1) a9 ii (2) ohees ii T iii
(3) FEBidiv (4) Ha i, il 9 ii
Pandita Ramabai with the permission of the Ramabai Association, appointed

an advisory board to advise her, who among the following was included in
this advisory board ?

1. Justice M. G. Ranade
1. Dr. R. G. Bhandarkar
1. Justice K. T. Telang
iv. Bapu Hari Shinde
(1) iand iionly (2) iiand iii only
(3) iand ivonly (4) 1,1ii and iii only

2. 3. 9. 1918, Gl gasdia s Roew g’ & e w1 S 396w Hivl he
qn ?
(1) TS wIg 9ern
(2) SI. IEERY et
(3) AR AU ArEs
(4) WS ATHEUE T

In 1918 A. D., who advised to the Mumbai workers to establish the organization
‘People’s Union’ ?

(1) Rajashree Shahu Maharaj

(2) Dr. Babasaheb Ambedkar

(3) Narayan Meghaji Lokhande

(4) Bhai Madhavrao Bagal

el HUTETS SIFT / SPACE FOR ROUGH WORK P.T.O.
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3.'mwwmmmmwmmm
JUYATER HIUN Few ?
(1) JEu AU s (2) WIS TR &

(3) THWM T Y83 (4) FEUITSH AR

Who defended Chiplunkar’s attack on Mahatma Jyotirao Phule through his
newspaper, considered as the beginning of non Brahmin journalism ?

(1) Narayan Meghaji Lokhande (2) Bhau Daji Lad
(3) Tukaram Tatya Padval (4) Krushnaji Bhalekar

4, ‘HEfEIARE 91 =i TIEH ST 2 TSEuar=a] daTfgs Gaure] Y usdl ?
(1) o e o (@) =)
(2) e 3foT SR T
(3) W IO FraaTET W
(4) STEE T U T

On which of the following matrimonial relationship between two Royal families,
the ancient drama ‘Malavikagnimitra’ throws light ?

(1) Shunga and Vidarbha (Yadnyasen) family
(2) Gupta and Vakataka family

(3) Shakas and Satavahana family

(4) Chalukya and Vardhana family

5. 9Ci%h SIS ARG A= 919y 3 8 ?

i. =
iv. 79
v. ot
(1) 1,19 iii (2) ii, 119 iv (3) i,ii,iva v (4) i,1idvVv
What was the medium of trade exchange during vedic period ?
1. Nishka
i1, Krusnal
i1i. Shatman
1v. Gan
v. Shreni
(1) 1, 1i and iii (2) ii,iiiandiv (3) i,ii,ivandv (4) i,iliandv

aeedl HIATETS! AN / SPACE FOR ROUGH WORK

A
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6. ﬁgmwm@wnﬁ Y YT I A VR WA § A YR & g Hd
e aren g swam uwiEh fRan Sach. R werrST=N T sfemtde W e TR,

According to Setu Madhavrao Pagadi, who of the following saint renamed
himself as ‘Shaha Ramjan’ and got converted to Islam by a Sufi Saint
Nizamuddin. It is a mystery of cultural history of Maharashtra.

(1) Gorakhnath

(2) Gahininath

(3) Jalandharnath
(4) Kanifnath

7. GEid S Ar sHAH HISvit .
RECREED)
ii. g0 R
1v. HUIEAT 99118
(1) 1iv, ii, iii, i (2) iv, i, ii, iii
(3) iii, iv, ii, i (4) ii, iii, iv, i
Arrange the following events in the correct order.
i. White paper
ii. Poona pact
Nehru report
iv. Dharasna Satyagraha
(1) 1iv, i1, 1, 1 (2) 1v, i, ii, 1ii

(3) iii, iv, ii, i (4) i, iii, iv, i

el HIATETS! AN / SPACE FOR ROUGH WORK P.T.O.



The following statements are written about
a. He played an important role in the field of education in Maharashtra.

b. He prepared textbooks on various subjects.
c. He wrote a book ‘Shunyalabdhi’ on Mathematics and Science in Marathi.

d. Keshavrao Bhavalkar has written his biography.
(1) Dadoba Pandurang Tarkhadkar

(2) Atmaram Pandurang Tarkhadkar

(3) Balshastri Jambhekar

(4) Gopal Hari Deshmukh

9. YRIc USihid JUATHT HIATHE A 3h9 STl
3. YU GrEdie
q. 9 Yiaes=dt ImifaeeE

<. HgE HENH 91

3. 31s39 IMEiHuEE

(1) ¥ A T

2) A 8 & 9

3) & 8 9§ A

4 T 9 A &

Arrange the following political organizations chronologically.
a. Pune Sarvajanik Sabha

b. Bombay Presidency Association

c. Madras Mahajan Sabha

d. Indian Association
(1) b a d c

(2) a d ¢ b
(3) ¢ d b a
(4) d b a c

el HIATETS] AT / SPACE FOR ROUGH WORK

A



& 7 Q17

10. @il v Aol gEmd s Suara aren ?

(1) wfearft ggsiE gar=h e suH.

(2) feemeaia usona geuThl e 93 13,

(3) =i srdflg smmOEsd YT $% A, 989 50 WIRGHE UYE I 9

fég gftem = @,
(4) Wrdfiere g€ 0 FFH g afd? norEdt Atmesr geer fifvaa w0,

Which of the following decision was taken by Sabarmati treaty ?
(1) A competitive co-operative party should be established.
(2) Students should not be involved in politics.

(3) There should be no discrimination among lower caste workers and a team
of SO volunteers should be formed and Hindu Muslim unity should be
maintained.

(4) A committee of Motilal Nehru and Jayakar to determine the members of
the Central Legislature.

11. 3. 9. 1934 T2 ‘F¥h Gud’ Th Aaehil 9T TgUH Widiicideh! Shivedl Tidid TA19H $HodTd

ATl 7
(1) 3muwes (2) dfireaTg
(3) > (4) <

In 1934 A. D., which of the following region, witnessed the establishment of
‘Karshak Sangham’ as a peasant organisation ?

(1) Andhra Pradesh (2) Tamil Nadu
(3) Kerala (4) Bengal

12. TEAEE Iooi@ “THET Sehalial Ufagifaes Aral’’ 318 vl el ?
(1) dfed ArdaTa J8& 3nfon €. Sft. dgaet
(2) 4. . T 3nfor i, 9. e
(3) e ga 1T 1. fa. haet
(4) AITETEE Yeadq A ETa Tean
Who remarked about the ‘Dandi Yatra’ as, Rama’s Historical March to Lanka ?
(1) Pandit Motilal Nehru and D. J. Tendulkar
(2) P.C. Ray and D. P. Mishra
(3) Shankarrao Dev and G. V. Ketkar
(4) Appasaheb Patwardhan and Suhasini Nambiyar

&eed] FIHIATS] AN / SPACE FOR ROUGH WORK P.T.O.



13. Grelie faum simdeyta amea ?

i, YHTE TSTHIOMITYA BT S,

i, Gt Som=n IR SEreEEa iferas i wiew.
iii. wefeae Efan g v fRaren saew 9.

iv. amires srenaEa Jifan Pfa smaen sraem=n g e,
(1) ST=T (2) gAEA

(3) 3t (4) INTE

About whom the following statements are related ?
i. Religion was separated from politics.
ii. Adopted a policy of seclusion towards brave women who followed Sati.
iii. To stop child marriage and widow marriage was encouraged.
iv. Claimed that the final decision regarding the social law will be his.
(1) Babur (2) Humayun
(3) Akbar (4) Aurangzeb

14. EHcyHi oot fafew toedia fata e grar s
i, I WRAI ISTar=al U arays! faummdie e swon et
ii. 1857 <A1 IJMEET GFST HA WIS A5 o HIGT A5 ISTATd HIS HT.
iii. HISET 9 F=AT Ggh=IH! &R @NET 9 9 JTd.
(1) i9ii (2) i 9 iii
(3) id iii (4) oo gd

Bhills in Khandesh protested against British rule because
i. The Bhills of the Satpura division got inspiration from the event of the
uprising in North India.
ii. Taking advantage of the revolt of 1857 Bhagoji Naik and Kazising Naik
joined the revolt.

iii. Kazising and his associates burnt government treasuries and post

offices.
(1) 1andii (2) 1i and iii
(3) 1and iii (4) All of the above

ol ShIATATE! ST / SPACE FOR ROUGH WORK
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15. Gieliend wioren gauarga -3z 7 amea geasl agers fram wige ?

S RE0)

8. M 9a

%, s e

OIS

(1) 31 I & e (2) & 3nfr % Fe
(3) 3 M § HEd (4) 3, F T &

In which of the following newspapers did Annie-Besant present her thoughts
about Home Rule Movement ?

a. New India

b. Common Weal
c. Bombay Gazette

d. Telegraph

(I) aand b only (2) b and c only

(3) aandd only (4) a, b and c only
16. T fqu™ &t

. UGS FIU JoHA ThedT e Aarafaedr HH1 2ld.

9. TUY SRER [ VTR JEAIS HROMA AT

%. Sl Uy Frea1 Il AT HAHS AT I Ml T HEIYdr.
(1) % faum & SUST 312

(2) % faum 31 st ame

(3) S faum 37 3for 9 sO=t 312d

(4) Taum x, 1 3nfor % SV 384

Observe the following statements :
A. There is loss of bio-diversity due to dumping of toxic waste into soil.
B. Deforestation is responsible for frequent floods in river.

C. Fransisco Mendez was known as ‘Amazon Gandhi’ due to his work in
energy field.

(1) Only statement C is correct

(2) Only statement A is correct

(3) Only statement A and B are correct
(4) Statement A, B and C are correct

@Hoedl FIHTATS S0 / SPACE FOR ROUGH WORK P.T.O.
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17. wrdidie Tgee @a REvgr dgea™ 9 .
(1) TGS TEATFEES (NO,)

(2) 8 JiFEEE (N,O)

(3) FRGSH FRANTTETES (NO,)

(4) TEZSA (N,)

Nitrogen fertilizers in soils releases ___ when broken down by bacteria.

(1) Nitrogen dioxide (NO,)
(2) Nitrous oxide (N,O)

(3) Nitrogen trioxide (NO,)
(4) Nitrogen (N,)

18. 3N Heuia Welie Hivrd faum st=w 3med ?
H. 3N YR WU FHa .
9. 1985 HEY A AU 05 TSed T .
F. 16 9L 7 ANMaH A fq@ B[ = Far Al
€. 1989 W& 3N &I HIUMA WA IS q41 HITvaTd AT,
(1) e 31, § M1
(2) S §, & AT S
(3) o A, & IV S
(4) e g4

In relation to Ozone which statements are true ?

A. Ozone is called protection shield of the Earth.

In 1985 it was clear that Ozone layer has holes.

16t September is celebrated as World Ozone Day.

In 1989 chemicals responsible for Ozone depletion are banned to
utilize.

(I) Only A, Band C

(2) OnlyB,CandD

(3) Only A, Cand D

(4) All the above

O 0 W
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19. Grefietd Hivrar gffeufah aa=amn v T@ 7

(1) W& 5 (2) Mrp FEqEERET =T

(3) FTB! HAN (4) Iot=1 WA

Which of the following is not the type of Ecological pyramid ?

(1) Pyramid of number (2) Pyramid of biomass

(3) Pyramid of food web (4) Pyramid of energy
20. HTE YA TR e T wataronat ni ufom s @ __ TEUraTd.

(1) =1 Tre (2) < g

(3) fia= TTs (4) frem

Some species if eliminated seriously affect the ecosystem. These are called

(1) Blue stone (2) Red stone

(3) Yellow stone (4) Keystone
21. Gl 3 e 67 Erefieteh! S JeieiH Sgmm diF aquie i Jehii gifaen

AR B TG A ?

(1) BT H (2) C 3 G (3) D a71for F (4) E 3mfor A

Observe the following diagram and state which of the following alphabets
indicate the gibbous phase of the moon ?

(1) BandH (2) Cand G (3) DandF . (4) EandA

P10,

@l FIATATE ST / SPACE FOR ROUGH WORK
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e

. gataw o geflaren e Samggen shaq, ar, fem g gege giom FOm w
yiifeudt, fosh ek 3 == e 8
qatE= 8 e wivf el ?
(1) favasy (2) frefew favasn
(3) u. #. T (4) S fary

“Environment means the sum total of all conditions agencies and influences
which affect the development, growth, life and death of an organism, species

or race”.

Who created this definition of environment ?
(1) Universal Encyclopedia (2) Britanica Encyclopedia
(3) A. C. Tansley (4) Jackie Smith

23. T o= Yeud gi@sH, forwm anfor @i s e faadia smee anzq.
GTeiteden! ShivTdt SR I WiAST=A1 Grear=A1 faauma wrofiyg 3mea ?

a.
b. UfTaq USEIHR=AT Yeud YSi=ITa Y9107 H] 3112,
&

. Ui USEIHT=AT Yeuld §aHH 39 9 HiE 3118,
d. UfSan TSeaFT=A YeuTd SHAESeHT Wikl &F 37ced 3R,
(1) %ed a S0 3T (2) Had a AT b ST 3_d
(3) a, b 3T ¢ T 3Td (4) wad d SUE MR

In the western part of Rajasthan minerals like limestone, gypsum and mineral
salts reserves are distributed.

Which of the following reasons are responsible for this occurrence ?
a. Western part of Rajasthan was submerged under sea water during
permocarboniferous period.
b. Western part of Rajasthan receives low rainfall.
c. Western part of Rajasthan has hot and dry climate.
d. In the western part of Rajasthan the area under vegetation is very low.
(1) only a is correct (2) only a and b are correct

(3) a, b and c are correct (4) only d is correct

oAl AT SN / SPACE FOR ROUGH WORK
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24. WiefieH FHvren Yea w9 siaage @iem o aifte aEd 7

(1) =S 7 (2) VR e
(3) smft gz (4) TITeETE e

Which of the following soil contain the maximum proportion of iron and

bauxite minerals ?
(1) Red soil (2) Regur soil
(3) Laterite soil (4) Alluvial soil

25. Wiet o fRum et amea = (A) g vl 3/ (R) @ =R o R, Retewn st
T W A=z

(A) Y B T 7 U G Fedl A1 AHTr, R goen 9 ffFg 3.

(R) Het v I TATRHIHW FHIqE IAEH e fohar arams ar fewmf 2.
(1) (A) 3R (R) &t ST 3MRd 3 (R) & (A) = @ T e

(2) (A) 3nfr (R) et =T ARA TG (R) 7 (A) & T TqeHT ATl

(3) (A)R S 3R 90T (R) B I 3R

(4) (A)® I 3R W0 (R) B SR AR

Given below are two statements one labeled as Assertion (A) and other labeled

as Reason (R). Select correct answer from the options given below.

(A) Cotton is not a weight lossing pure raw material, besides is light in weight
and durable.

(R) The localization of the cotton textile is found either in cotton producing
region or near market.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

weodl FHHTATS! SIFN / SPACE FOR ROUGH WORK P.T.O.
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26.‘mmmmmmﬁaﬁwmzﬁ%ﬁm?
(1) 72T R (2) fewn (3) faa (4) wufRl

In the physical map of India, Maharashtra plateau is shown by which of the

following colours ?

(1) Dark green  (2) Green (3) Yellow (4) Brown

27. Wreltesh Hiven feasht gféo Menuidia = srmfen At 2
(1) 219+ (2) 21
(3) 23 TR (4) 22 feg=

On which of the following day does the summer solstice occurs in the southern
hemisphere ?

(1) 21 March (2) 21 June

(3) 23 September (4) 22 December

28. YOI HGIS YCWTd fRaTadTd Iy TSWE il
(1) SR 9gI= Ao
(2) TEIR YSHT=AT AR fRaTeard YA TY=AT YeTd HH Igyr veur fmio

(3) ¥HS AYZIhgA YUTThs IR dT&dTd
(4) TN YIar=AT 91 @ IANE Iy 99 98al

Winter rainfall received by the Mediterranean region is the result of

(1) Shifting of pressure belts

(2) Low pressure belt occurs over the Mediterranean region during the winter

season due to shifting of pressure belts

(3) Winds blow from the Mediterranean sea towards land

(4) Orographic rain developed on the windward slope of the Alps

ecdl FHHTETE AN / SPACE FOR ROUGH WORK
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29. uftdm ks werarren frarad wrma s arriimat aEesaTd wR
(1) s weramo=n uftadeda Rraradt s s gemen e

(2) dRihs wErarTren ufdan Rl e wra gdaUT TEted g
(3) v wrrETEn yftansda wrma @E Ian s Im

(4) vafss wgrarr=n ufvadt ymma arfirat Missn gt tressard

Trenches are found mainly along the coast of the western Pacific Ocean

because

(1) The western margin of the Pacific Ocean is the sub-duction zone

(2) Along the western border of the Pacific Ocean parallel mountain ranges
are aligned

(3) The continental slope of the western part of the Pacific Ocean is steep

(4) The western part of the Pacific Ocean is characterised by a large number
of trenches

30. TgTS! R & YR §EHETET AfAShR Giefladeh! il arareeiy gRied=n aiom
3R 7
(1) = ag IR e vdaumeda deseaat @ ayg e e
(2) HIE AEEH WHT
(3) WRAT=A1 I Mg TG WIhs 3od dIIHR Yg=T=1 I f9R
(4) WRdE IT@sE i gomd arurrde =
The climatic phenomena retreating monsoon is the result of which of the

following atmospheric condition in India ?

(1) After reaching to the Himalayan ranges the south-west monsoons
retreats

(2) The apparent movement of the Sun

(3) The expansion of the high pressure belt from north-western part to
south-eastern part of India

(4) The occurrence of variability in the atmospheric pressure developed over
the Indian sub-continent

ool FIETETS ST / SPACE FOR ROUGH WORK P.T.O.
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31, e Fo /A fur /A e TR 7
TRRITE IS HUN GSEle W@ Sram 9 et gmmde Tt @l ety
3R
N, GEYe vEa Tre gfimene arft-qu @R,

qraTest i1 S i MeEdt TEE @n.

glveg SemRe S 9 e <o A R @i,

WY HERT™ SR § w1 R Fem T @R,

(1) S 3

(2) =« g4 T

(3) SR AT T

o H

(4) TR AT S

Which of the following is/are correct statements ?

In Maharashtra, in order from north, the major hill ranges on the plateau

and the river basins to their south are as follows :

a. Tapi Purna basin to the south of the Satpura mountain range.
b. Godavari river valley to the south of Satmala Ajintha hills.

c. Harishchandra Balaghat hill and Bhima river basin to its south.
d. Shambhu Mahadeva hills and Krishna river basin to its south.
(1) Only a

(2) All are correct

(3) Onlyaandb

(4) Only aandc

@Heedl FHHTETE 5P / SPACE FOR ROUGH WORK
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32. HRMAE UM W@ Wa g7 3 f¥woht ff Shren e R w
(1) HRTGERE 3T 9=t siswordte Tar Immrsht oo sifeadi gamme &t o
AT IR
(2) TR I TEI= HiHUTA TEren qvdad] s f T Fee R
(3) HRITTA ITH UTEUT=AT HIHUITIE T TS WS ot THEHR Hrered! TR
(4) WETEA IS YESUR TSRS TR 3 graa f e et a1g

The Sahyadri range is not straight but at many places it is curved, because

(1) The Sahyadn range is curved at many places because of the headward
erosion of the Konkan rivers originating in Sahyadri

(2) The Sahyadri range is curved at many places because of the lateral erosion
of the Konkan rivers originating in Sahyadri

(3) The Sahyadri range is curved at many places because of the downward
erosion of the Konkan rivers originating in Sahyadri

(4) Due to heavy rainfall the Sahyadri range is heavily eroded and hence it
1s curved |

33. Tl F FM TATAT GO Hall Ter=A1 UETd feareara qar yui ared, SR
(1) e g IS ST TE=AT TET Toi=agee] Hia= YHImel g
(2) I ARG TS HIA TEEAT THTG IS-Igs Hig HER 8
(3) TG T IETG I F FHcd HH I=AIHA TS=gs aid
(4) a8 T I HEA TE=AT IETE HISST YHIUME qTUATET GUEST Hdrd

As compared to the Godavari and Krishna rivers, the course of the Kaveri
river receives large volume of water during winter, because

(1) The course of the river Kaveri receives heavy rainfall from the south-west
monsoons

(2) The course of the river Kaveri receives heavy rainfall from the north-east
INONsSoons

(3) The course of the river Kaveri receives rainfall from both south-west and
north-east monsoons

(4) The tributaries of the Kaveri provide large volume of water to the course
of the Kaveri

THeedl FIHTETE! AT / SPACE FOR ROUGH WORK P.T.O.
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34. Iuvmrem wur AR s aehe A T @it Horen aeEE v et g
forg svarn wam Fen IR ?

(1) Ievmren v Afdadisona squala gen 2 fimgr vgwm 3

(2) Irmren v Afvadsome swon yeaia @9k meE wEE s

(3) Iavmren wuma Pfvadisonma ssmd=h g wgwrh s

(4) Iomren A Rfvadisong arge @=iRE eE Eee I

In his theory of industrial location Alfred Weber tried to establish the pivotal
role of which of the following factors ?

(1) Labour cost plays a pivotal role in the selection of industrial location

(2) Cost of raw material plays a pivotal role in the selection of industrial
location

(3) Market accessibility plays a pivotal role in the selection of industrial
location

(4) Transport cost plays a pivotal role in the selection of industrial
location

35. @iciiel faurErEl foan 81 @i Hivr /S /3 st 3R/37ed o ShaisrT 9T
w0 I form.

(2) & 2 FUER AR
(3) T 1 3nfor 2 e TR
(4) 1 ¥ e T 9 2 & FUeE 18

Consider the following statements and select the correct answer using the
code given below.

1. A compact settlement is most probably surrounded by hamlets.
2. Compact settlements are not found in the Himalayan region.
(1) Only 1 is correct

(2) Only 2 is correct

(3) Both 1 and 2 are correct

(4) Neither 1 nor 2 is correct

@eed| TIHTETE | / BPACE FOR ROUGH WORK
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___®n veratEn wfdvear fofaes (critical) arammTreT @reft I 8.

(1) &S (2) A

(3) afvarEs (4) ah T

- _ are materials whose resistivities become zero below a critical
temperature.

(1) Conductors (2) Insulators

(3) Super conductors (4) None of these

37. SR UGG S 36° UG ot 1Gun=an g Hde RIS Guey daett, @t fohdt afemm qam

Blate ?
(1) 8 (2) 9
(3) 10 (4) 11

If an object is placed symmetrically between two plane mirrors inclined at an
angle of 36°, then how many images will be formed ?

(1) 8 (2) 9
(3) 10 (4) 11
38. §+hg+—;-=ﬁ1tiaa,%ﬂfﬁﬁﬁaﬁuﬂ 1 TR SEE TR,
(1) |acg e
(2) SIS GHIHT
(3) U=horEl f4aH
(4) o= FHIHWI
.§-+ hg + 2e constant is the mathematical statement of

(1) Equation of continuity
(2) Bernoulli’s equation
(3) Pascal’s law

(4) Euler’s equation

@oedl HIHETETS ST / SPACE FOR ROUGH WORK P.T.O.
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39. ﬁ@a-mﬁmﬁmﬂuﬁmaﬁtmﬁﬁ

(4) IU[H M VEEIHTS qGerd ATa!

When a-particle emits from a radioactive element then

(1) atomic number decreases by 2 and mass number decreases by 4
(2) atomic number decreases by 1 and mass number decreases by 2
(3) atomic number increases by 1

(4) atomic number and mass number remains same

. =T A9 104°F 3R, ® auH fodt feaft afcwag ame 2
(1) 35°@fceam (2) 37°dfcag® (3) 39° afcqaw  (4) 40° dfcqaaw

The fever of a child is 104°F. What is this temperature in degree Celsius ?
(1) 35°C (2) 37°C (3) 39°C (4) 40°C

41. Greliadsh! Sivd faum st=t 3me ?
(1) W& &7 YA ATETd SR 3t STHaHT gatd w1 1107 gaiag Hd 8 37
JAGAHT Faid IR 39l
(2) T S GIAURT ARG SR IR FFAHET qaia S AT GG HHia FHt 3fa
AT gaid HHt 37Hdl.
(3) U= 7 GIMIRA AT JARd d Al HH! Il JAEAET GG 374ar.
(4) TR S GIUHA IR S 9 HHTd HH 3l AT Gaid S 794,

Which of the following statement is correct ?

(1) The speed of Planet is faster when they are nearer to the sun and slower
when they are farther away from the sun.

(2) The speed of Planet is faster when they are farther from the sun and
slower when they are nearer to the sun.

(3) The speed of Planet is same when they are nearer to the sun or farther
away from the sun.

(4) The speed of Planet is faster when they are nearer to the sun or farther
away from the sun.

oo™l FIHEIE SR / SPACE FOR ROUGH WORK
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42. wiela Men a1 - ANaga a |ren nmd gomt 4

Ao vTETR Im

W, 3 SEa i. 73y

%, € dfETas T &

§, & SgIae iii. @AMy

g ®,, SETad iv. Ta3naaqom
3 T ® g

(1) iii ii iv i

(2) iv i i i

(3) i iv i i

(4) ii iii iv i

Match the following — Vitamins and respective deficiency diseases :

Vitamins Deficiency disease
a. Vit. A i. Rickets
b. Vit. D ii. Scurvy
c. VR C iii. Anaemia
d. Vit. B,, iv. Night blindness
a b c d
(1) 1iu ii iv i
(2) 1v 1 i i1l
(3) i iv iii ii
(4) 1n 11 v 1
43, sifam 75 FIEYd G ARSI I{E] AWRIS IR,
(1) & (2) dges
(3) ==m (4) ==
Anguina tritici is the parasitic nematode found on plant.
(1) Wheat (2) Rice
(3) Jowar (4) Bajra
@Heed| ThHIHTETS! AT / BPACE FOR ROUGH WORK P.T.O.
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44. VEITEE INATY WU HIATE N9 7
(1) #Hee
(2) e
(3) WIgEHT Haw
(4) HigERT AE

Conchology is the study of what ?
(1) Coelenterates

(2) Mollusca

(3) Shells of Mollusca

(4) Mantle of Mollusca

Q17

45. TigeH g Woft g TEaTd ST A Wieller e rer FHard ¢
A o yiigedntia gaU Faid |8t 1 R
9. gagunone o fgusfta aafida saam
F. o Bed JHHEGE UM
3. M UEd 9 AFard

Slierdeh! ivra faum/faum st amga 7
(1) e A (2) 3, g3rs
(3) H, T30 F (4) ®Fda A MO

Phyllum Mollusca contains soft bodied animals characterized of :
a. They are second largest phyllum in animal kingdom
b. They are generally bilaterally symmetrical

c. They are only Terrestrial animals

d. They are having muscular foot

Which of the statements given above is/are correct ?
(1) onlya (2) a,bandd
(3) a,bandc (4) onlyaandb

&eedl FIHTETS] | / SPACE FOR ROUGH WORK
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46. WA HIvTd W@ UROTEHS AN § WIATder -JURoT=t 91T g ?

AN ey e

§. %o Ugdl guwron

%, 7 urorer e watg Afvd

3. -YTOT THATHU

(1) 1, § 37 & (2) ®, % M1 8
(3) F, e (4) aleth gd

Which of the following major policy interventions are the part of the land

reforms in India ?

a. Abolition of intermediaries

b. Tenancy reforms

c. Fixing ceilings on land holdings

d. Consolidation of land holdings

(1) a,bandc (2) b,candd

(3) a,bandd (4) All of the above

47. F=YUN Ao arareff o ARd ?
(1) weSdial geit
(2) FTERTE HHTR
(3) U g gt Ao i@ Tdd 3 SIs3 AMTEh
(4) Tgm afe
Who are the beneficiaries of Annapurna Yojana ?
(1) School girls
(2) Casual labours

(3) Senior citizens who are not under National Old Age Pension Scheme

(4) Retired soldiers

&Hoedl FHIHTETS ST / SPACE FOR ROUGH WORK P.T.O.
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48. wgfera &l qu=n Y _ &1 argal.

(1) Ie=T=1 gl &, IeuTed gat qX anf Yufifes avmausdien g4t g Fr=ardta @

(2) IS gt G A AHEE gl T ATeATA AT

(3) Aafitss gruwaTen gt g anfn Ieq=rehel gt T Ar=ATdter aur

(4) AGfils gruFgudE g6l i dAeaEn gt g FreaTdier aum

Balanced growth rate aims at

(1) equality between growth rate of income, growth rate of output and growth
rate of natural resources

(2) equality between growth rate of income and growth rate of population
(3) equality between growth rate of natural resources and growth rate of

income

(4) equality between growth rate of natural resources and growth rate of

population

49. SRS |
9. YU e faehgientu
%. WAl AlhaEId el
T. APUEIAl Udd 916
(1) %ad 3 (2) herd 37 30T §
(3) Hed 37 AT E (4) TOeUE 99

Urbanization means

a. Centralization of population in the cities

b. Decentralization of population in the cities

c. Centralization of population in villages

d. Increase in density of population

(1) Only a (2) Onlyaandb
(3) Onlyaandd (4) All of the above

oAl FIHTATS AT / SPACE FOR ROUGH WORK
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50. TS YAessitad 9 well giada sfam (AMRUT) fawft arefiadht v favm atEe amEt ?
(1) AMRUT R YR@ 9= Y@ Afam ame
(2) Tefm 3 wEd sEEr daeE ai R e ' F o
(8) o e weumtie urvaTea QESsTH aeR drefa
(4) 25 I3 2015 982 SuTdlE 500 WRUHEA d FHEat=ia HOI I

Which of the following statements about Atal Mission for Rejuvenation and
Urban Transformation (AMRUT) is not correct ?

(1) AMRUT is flagship mission of Government of India
(2) It was launched by Ministry of Housing and Urban Affairs
(3) It addresses the challenges of water supply in cities across the country

(4) It was launched on 25 June, 2015 in 500 cities in the country

51. Siogl TG $oaTEl Sfudal ONeh 2o foha1 camian i 3@a), e F $ed
% I (g 2R TR .
(1) 20.33 (2) 50.33 (3) 40.33 (4) 33.3
If deprivation score of a household is ___ percent or greater, then that
household is called multidimensionally poor.
(1) 20.33 (2) 50.33 (3) 40.33 (4) 33.3

52. I 1991 UgA Ffqaeddia [EeT 919 GURUATEIES! SAT9% IGRISUMS 39T AR el ATd
H. YR AT Higael JaTg URO
|, e fafEso

%. flaaue 3o grdsfes I U
g. fa<r@ &= gumon
(1) A3 (2) & 318 (3) 3, g (4) A, q,FAMNES

Since July 1991, comprehensive liberalization measures have been undertaken
to improve the supply side of the economy. Among these the more important
are :

a. Trade and capital flows reforms

b. Industrial deregulation

c. Disinvestment and Public Enterprises Reforms

d. Financial sector reforms

(1) aandb (2) candd (3) a, bandc (4) a,b,candd

Tl HIHTETS SIFT / SPACE FOR ROUGH WORK P.T.O.

A



5 :
53. fafey Mo e Pt defwreia s ardfersmm fega Jam.

A, R Tl et

¥, S fjem, e fawma w2

&, TRE fdem, sy
T, |URYSH MM wvEd ga

(1) 31 %o (2) & e
(3) = ® (4) 3, 9, &% o1 g

The long-term objectives of economic planning, as spelt out in various plan
documents have been as follows :

a. Economic growth, self-reliance

b. Removal of unemployment, reduction in income inequalities
c. Elimination of poverty, modernization

d. Inclusiveness and sustainability of growth

(1) aonly (2) b only

(3) conly (4) a,b,candd

54. e FARAd anfor gwmandt ydie e we s
. FEeE smm, sesad, e
§. @& 3t nnee fafvadt, S9YE g
F. AR A0 FAEH JWTEA, A fawE e
T. YYET HEHAL, fNeomar g
(1) 3 % (2) 3 3nfor
(3) H, 93+ (4) A, 9, FAMS

The formulation and success of a plan require the following :
a. Planning Commission, Statistical data, Objectives
b. Fixation of Targets and Priorities, Mobilisation of Resources
c. Incorrupt and Efficient Administration, Proper Development Policy
d. Economy in Administration, Education base
(1) a only (2) aandb
(3) a,bandc (4) a,b,candd

heed] THHTETS AT / BPACE FOR ROUGH WORK
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55. @@ 0 e 3w w1 @ nitew Ay’ R v o IR,

(1) . frzis (2) Tt T (3) g (4) e

‘A country is poor, because it is poor’ this statement is of

(1) G. Myrdal (2) Ragnar Nurks (3) Robbins (4) Marshall
56. Hgca g€ Rigiaan nY e TS IR,

A, INNY T T i T
§.  WiSHdl 95 A s
%. T &3 9 Jf 8

B foraeddia gd 8

(1) % N (2) Fad ® (3) % S (4) e 3 AT
Balanced growth theory requires balance between

a. Consumer goods and industrial goods

b. Capital goods and industrial goods

c. Agricultural sector and industrial sector

d. All sectors in the economy
(1) Onlya (2) Only c (3) Onlyd (4) Onlyaandb

57. Y =41 74,
T, WIS TR HAN: I FRr defrel wee, S §EAR S9N AlREE e

gral.
Shedeh! Sivd f9u™ 9T 3me/d 7
(1) 3 G (2) o FeE
(3) 31 3T § (4) SlUh! Hivda! ATl

According to Schumpeter,
a. Development is a discontinuous and spontaneous change in the stationary

state.
b. While growth is a gradual and steady change in the long run which, comes
about by a gradual increase in the rate of savings and population.

Which of the statement above is/are correct ?

(1) a only (2) b only
(3) aandb (4) None of the above
&oed] FHHEE! P / SPACE FOR ROUGH WORK P.T.O.
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58. T aftd), 2014 3 78 2011 - 12 T e Yo il R i @ wmh
wrTETd) anfy arfior s fAfeaa et amR.

(1) 50 92 anf 35 v (2) 47 ¥ anfor 32 T
(3) 55 %9} anfor 40 ¥4 (4) 60 T2 71T 45 T

Rangarajan Committee, 2014 defined poverty line for 2011 - 12 at Rs.
per capita per day consumption expenditure for urban areas and Rs.
per capita per day for rural areas.

(1) Rs. 50 and Rs. 35 (2) Rs. 47 and Rs. 32
(3) Rs. 55 and Rs. 40 (4) Rs. 60 and Rs. 45
59. 2014 & A o gueyead @iiats S g iaard et ?
(1) Fraadfsm o (2) U=t ferEwor Fe
(3) WU I U FiSHl (4) alerdeh a4

In 2014, the Government implemented which of the following Scheme for
financial inclusion ?

(1) Demonetization Scheme (2) Property Disclosure Scheme
(3) Pradhan Mantri Jan Dhan Yojana (4) All of the above

60. S T9¢ U HE 7
(1) TEEEE a1 HAUHHeT
(2) wieeERE IS FdHH
(3) | FYFHIT JEUTHIS! T aqa!
(4) TG FdEHAE AR Wad ate!
What is meant by Gender Budget ?
(1) Separate budget for men
(2) Separate budget for women

(3) Independent provisions for men in the general budget
(4) Independent provisions for women in the general budget

61. 0.10M Ffer@ HCI ZravnEl pH FIevaTardt Wiefieideh! whivrr ordE JaY ST ?
(1) pH =log,,(1.0x107) (2) pH =log,p(1.0x101)
(3) pH =-log,,(1.0x107}) (4) pH =-log,((0.10x10%)
Which of the following mathematical relationships should be used to calculate
the pH of a 0.10M aqueous HCI solution ?
(1) pH = log,,(1.0x107) (2) pH = log,o(1.0x10%)
(3) pH = -log,,(1.0x107}) (4) pH = -log,o(0.10x10")

&eed] THTETS WP / SPACE FOR ROUGH WORK
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62. 1.5M H,SO, =11 10 dm? g@Emmgd 1.0N H,SO, 9 Zr&0 F3 a7are ?
(1) f@&n gEvma 5 dm3 amft arega

(2) fAen gEvmE 294 ¥ H,SO, =T

(3) fea&m grEvma 20 dm3 urft ureA

(4) &0 gEvmE 174 ¥ H,SO, U

How is 1.0N H,SO, solution is prepared from 10 dm? of 1.5M H,SO, solution ?
(1) By adding 5 dm? of water to it

(2) By adding 294 g of H,SO, to it

(3) By adding 20 dm? of water to it

(4) By adding 174 g of H,SO, to it

63. NH, 3f BF, =1 J&Riaed @iciiaidehl SHIvl 931d 3 AR ?
(1) NH, - faives anfor BF, - fuiiiss
(2) NH, - W 37f1 BF, - @
(3) NH, - W= 371 BF, - fuifhe«
(4) NH, - fiifss anfor BF, - @

Which of the following is correct for the shapes of NH; and BF,; ?
(1) NH; - Pyramidal and BF,; — Pyramidal

(2) NH, - Planar and BF; — Planar

(3) NHj; - Planar and BF; — Pyramidal

(4) NH, - Pyramidal and BF; — Planar

64. TWATIH! FIV EFSHETNE 80% HIe 3Tl 7
(H=1,C-=12)
(1) <3 (2) (3) M (4) WRERERH
Which of the following hydrocarbon has 80% carbon ?
(H=1,C=12)
(1) Benzene (2) Methane (3) Ethane (4) Cyclohexane
& oed] FHHTATS! ST / SPACE FOR ROUGH WORK P.T.O.
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65. 180 i 3idfs smat (CH,COOH) 3fr 180 3t amft (H,0) UHHid fireset. TR Hete

grEvA saRes smerEn M $E 3aH .
H=1,C=12,0 = 16]

(1) 0.23 (2) 1.0

(3) 0.5 (4) abath o T

180 g of acetic acid (CH,COOH) is mixed with 180 g of water (H,0O). The mole
fraction of acetic acid in the resultant solution is

[H=1,C=12,0 = 16]

(1) 0.23 (2) 1.0

(3) 0.5 (4) None of the above

66. 3 1.0 Hie e IR HHNAN WHG a9qH T graren 22.4 Lit A8 T Fdhy 91
s, R 37HAl.

(1) 0.0821 atm Lit mol-! K-!

(2) 8.314 x 107 Joules K-! mol-!
(3) 82.1 atm Lit mol~! K1

(4) 8.314 erg K~1 mol-!

If one mole of an ideal gas occupies 22.4 Lit at Standard Temperature and
Pressure, then the value of the universal gas constant R is

(1) 0.0821 atm Lit mol~! K-!

(2) 8.314 x 107 Joules K~! mol-!
(3) 82.1 atm Lit mol~! K-}

(4) 8.314 erg K~! mol™!

67. T&h IE .

(1) wiegd - diqedh (2) wrft - SRR

(3) wFEA - FegfauHE (4) ImAAH - iR

Find the wrong pair.

(1) Labiatae - Lamiaceae (2) Palmae - Arecaceae

(3) Compositae - Clusiaceae (4) Umbelliferae - Apiaceae

@eed] TIHTETE AP / SPACE FOR ROUGH WORK
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68. WHVI-HYANUTHY Wehremar anurlia 9k ggam w1 S o 7

(1) NADH, d ATP 2 &R %0 (2) NADPH @ ATP =T 39317 &0

(3) NADPH & ATP =t fafifeh = (4) afe ud

What is the principal function of the light-dependent reactions of
photosynthesis ?

(1) To transfer the NADH, and ATP (2) To utilize the NADPH and ATP
(3) To generate the NADPH and ATP (4) All of the above

69. TIHEHD AT = e
A, FEEREY
. EEEEg
%. 3IRTAT
3. witm
SFeeh! v I /991 <=t 3R/4 ?
(1) ad 37 (2) BPFA TS (3) Baa A AT F  (4) Baad
. ______are precursors of enzymes.
a. Zymogens
b. Ribosomes
c. RNA
d. Protein
Which of the option given above is/are correct ?
(1) onlya (2) onlybandc (3) onlyaandc (4) onlyd

70. WAl Siordt faum s 3md ?
F. fawt 2 €f2a 3 amka, S Jqvarties sffram T 9.
9. faot giEE SAce! TEar.
%. faudt frafderar aoamEt sadss T9q.
3. IS g 9 Weat F1 &,
(1) 31 3rfor 9 2) F,Farg (3) A, (4) O ad
Which of the following statement/s is/are correct ?

a. Enzymes are organic catalyst that accelerate biochemical reaction.
b. Enzymes are made up from proteins.

c. Enzyme activity is not depends upon temperature.
d. Amylase is an enzyme that act on starch.

(1) aandb (2) a,candd (3) a,bandd (4) all the above

FoeAl FIHTETSI ST / SPACE FOR ROUGH WORK P.T.O.
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71. wiefeld) SR P ez 164 72 anie Tl 2
(1) wyensr Propd osmregr e e
(2) wdmEs ueren Aaaaen vERaT sEmEEr st A
(3) T wsE Prgad) o qEnTsTen geeran wde
(4) = s Worend gem w9k} semafad aeren fefiissen gger T8 @ en

Which of the following statement is not included in Article 164 ?
(1) The Chief Minister shall be appointed by the Governor

(2) The Council of Ministers shall not be collectively responsible to the State
Legislature

(3) The other Minister shall be appointed by the Governor on the advice of
the Chief Minister

(4) A Minister who for any period of six consecutive months is not a member
of the Legislature of the State shall at the expiration of that period cease
to be a minister

72. =afFTa WEAE T §YeE da 51
3. wafend M=og4 3 W AT e .

T, =gfans Frevign it fseaEt e gl sematia =E 18 wie=m= sREE
T FEA At

%, SuavE/fuEn 59 e igaas 3R 38 YR T@RE g9TYH 91 ).
z. wfera wwdlm g A qrafaedt e @

(1) #, ¥ 3o & (2) 31, & 3T

(3) @z & (4) 33,9, H AN S

Indian citizenship of a person can be terminated if
A. A person voluntary acquire the citizenship of some other country.

B. A person who has become a citizen through registration is sentenced to
imprisonment for 18 months within five years of his registration.

C. The government of India is satisfied that citizenship was obtained by

fraud.
D. A person has shown disloyalty to the Constitution of India.
(1) A ,BandC (2) A,CandD
(3) BandC (4) A, B,CandD

Eeed] THIMTETE @R / BPACE FOR ROUGH WORK
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73. W FRuEE R Fen devla areliatd) dm S /e P /o 3/ 7

N, amfE - I-URYA vz

q, A - g TR g’ @ g@m

®. T ik - usmaw e gl

3. TS - UNudisgd Usgana faftre sardter o s Sheren
geerrt amfdym ugd

(1) & A (2) A anfr =% 3) A, manfrs (4) A, 49 Fanfrs

Which of the following is/are correct pair/s with regard to acceptance in the
Indian Constitution ?

A. America — Post of Vice President

B. Canada — The concept of ‘Union’ for the Central Government
C. South Africa - Election method of Rajya Sabha

D. Ireland — Nomination method of the members of the Rajya

Sabha by the President who have done special work
in specific area

(1) Only A (2) AandC (3) A, Band D (4) A,B,CandD

74. TG TS WINT HiTE1/< 467 3290 Wiefierdehl hiva1/d 3R/d ?

3. HUr=AT (Union) iveha 3fesemamdt &6 wri=an amwa rciean sdi=n 3meran |ol
aior f&dtan ST SreauarETdt Rrereft .

q. T U TUSIT=AT I qFTvdishs @e1 Ut 31fT o1 ewia =T s,
%. YieTd ATAedT WIS @0 T =41 SRevmard! Rrereft .

g s wrr figom= qheqor S snfor Br-vymen wrh yurEht sieEsantt SeaEd
Rty |
(1) g 3 (2) §,Hamrg (3) AMUS (4) afs g4

Which of the following is /are the main objective /s of Committee of Parliament

on Official language ?

A. To review the progress made in the use of Hindi for official purposes of
the Union and to make recommendations to increase the use of Hindi.

B. Lookinginto the linguistic demands for new States and make suggestions
in that regard.

C. Identify the endangered language and make recommendations to protect
and preserve them.

D. Examine the vernacular education and make recommendations for
effective implementation of the three languages formula.

(1) A only 2) B,CandD (3) AandD (4) All of the above

& oedl FHTATETS ST / SPACE FOR ROUGH WORK P.T.O.
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7s. Prem qRwe snien devk wrele /R R o,

3. g Meden wm wger d@=n 1/5 geeh favam @ wigd @ q9d AearE
ST Y1 TS Tt Ava.

v, few wReg srasin gz gat qvaren Pl guresara T§® ar=an TS gda.

. Nrow ufteg rsasi v=amen gt Svaren fvk agata 18w g Fuges™ daar.

Fheish 3 fJum anea.

(1) 13t =

(2) & AT

(3) AU«

(4) & 30T S

Consider the following statement/s with reference to the President of Zilla
Parishad.

A. If 1/5% of the total number of members of the Zilla Parishad moves a

motion of no confidence and passes it, the President has to resign from
office.

B. Sudhakarrao Naik’s cabinet took the decision to give ministerial status
to the President of Zilla Parishad.

C. Vasantrao Naik’s cabinet took the decision to give ministerial status to
the President of Zilla Parishad.

D. Vasantdada Patil’s cabinet took the decision to give ministerial status to

the President of Zilla Parishad.

Select the incorrect statements from the above.
(1) Aand C
(2) Band D
(3) Aand B
(4) Cand D

#eed] THTETE] AT / SPACE FOR ROUGH WORK
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76. YEieh! ferR-ueATe S e Il /e a7
1. fq amam
1. U=y fom amam
1. T qrmyaria
IV. e mrfedt
(1) e [ SUST 318 (2) e 111 27T IV s 38
(3) e I, 111 anfOr IV st e (4) e [ 3T [V Ser A2

Which of the following is/are non-constitutional body/bodies ?
I. NITI Aayog
II. State Finance Commission
III. National Commission for Backward Classes
IV. Central Information Commission
(1) Only I is correct (2) Only III and IV are correct

(3) Only I, IIl and IV are correct (4) Only I and IV are correct

77. AT AT g (guwem) fufEm, 2016 =1 yE W@l

. M SRR A ArRgeEd AtaEm, 2013 (S 16 IHER 2014 st A1) Frel)
IqTd GYUTT el 3Tad.

9. HEaHS da@H! (Public Servants) HIeTHdd AT g quefict |Iet SHuar=a
QRN Feitd e 2013 <A1 FEHIS Heil 44 T qEiE Gl SUaTd el TR,

$. Hd 9o TSAHI AIhIgad Yerel TG Ush SuT=a1 31 e 3 SU-ehish S0aTd 3ol

S. KGR HE9eh Y+l Ao i ifcar ausfier 30 feamma aret wwaren
FIcadi= g gefavad e 3.

JUTUhT IVl fauT™ ST 3M8q ?

(1) F,Famus (2 JA,Famws  (3) JA,wars (4 ofia @@

Key Provisions of Lokpal and Lokayukta (Amendment) Act, 2016 :

A. It amended the Lokpal and Lokayukta Act, 2013 (which came into force
on 16 January 2014).

B. It also amended Section 44 of the 2013 Act that deals with the Provision
of furnishing details of assets and liabilities of Public Servants.

C. Made it compulsory that all States should set up the office of the Lokayukta
within one year.

D. The Amendment has removed the period of 30 days for furnishing details
of assets and liabilities of Public Servants.

Which of the statements given above are correct ?

(1) A, BandC (2) A,BandD (3) A,CandD (4) All of the above

sHeedl HIATETS! SArm / SPACE FOR ROUGH WORK P.T.0,
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78. U "y W1 AR wder @iefiald B R /SmRd ?

(1) @iy anfor Qe geesn armacen ante g T GRamaT Fa TEvaTe
gewia faftre awrli=h St o

(2) @l anfr el gesn wrmERen anten amies-anfis frmame agurf
210 37fr geen 0

(3) @i anfor Qerfrew geesn wrmaRe anf= G, wearr, famm anfor wrdh
grasth 3ot w1 IR urEn

(4) T g4

Which of the following is/are a duties of National Commission for Backward
Classes ?

(1) To enquire into specific complaints with respect to the deprivation of rights
and safeguards of the socially and educationally backward classes

(2) To participate and advise on the socio-economic development of the
socially and educationally backward classes

(3) To discharge other functions in relation to the protection, welfare,

development and advancement of socially and educationally backward
classes |

(4) All of the above

79. TiRicidehl HIvTd At et 3R 7

WIRATS T 98t © T E

(1) FgHR 9 AT 3fed1 (Adard)) d.f.ama.-m. - 1964

(2) FHFAR U 3T 3iean (Hi.9.3m.) - 1926

(3) ¥geH |uTe 9H (.ua.i.) - 1984

(4) T 3fean quie FEE (T3 - 1998

Which of the following pair is incorrect ?

National Party of India Year of establishment

(1) Communist Party of India (Marxist) CPI-M - 1964
(2) Communist Party of India (CPI) - 1926
(3) Bahujan Samaj Party (B.S.P.) - 1984
(4) All India Trinamool Congress (AITC) - 1998

@Al THHTETS ST / SPACE FOR ROUGH WORK
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3N M -1 1. YA BFF

¥, wm - 11 i, 99 U
%, wm - IX iii. Imi&e
T ym -1l iv. GUUST 9 @9 weiad

k| | & g
(1) iv il i i
(2) iii i i iv
(3) 1 il i v
(4) iv i i i1l

Match the pairs correctly.

A. Part-1 i. Fundamental Rights

B. Part-1IIl 1i. Panchayat Raj

C. Part-IX iii. Citizenship

D. Part-Il iv. The Union and its territory
A B C D

(1) iv i iii i

(2) iii i ii iv

(3) ii i1i i iv

(4) 1iv 1 11 111

81. wEed JgEmUle g &3 3 gfaa SAed I weEAEEH e aa)
(1) TSS9 9¢c] Fehdld
(2) T T FHATa
(3) faom wpmam wezAgHE FFA HHE 9G] WA
(4) V| FAQ FEA §HE 9¢c] AHd

Provisions of the Constitution relating to the administration of Scheduled
Areas and Scheduled Tribes in Schedule -V

(1) may be altered by the Governor

(2) may be altered by the President

(3) may be altered by the Parliament by Constitutional Amendment
requiring special majority

(4) may be altered by the Parliament by ordinary legislation

weed] THHTETS W / BPACE FOR ROUGH WORK P.T.O.
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82. ‘W@’ (SVAMITVA) A= 3feses) @refteh st amga 7
9. vl Pasamad anfr smessariiard sfifrem s 91§ aar wl.
%. Wemau gefia | s S,

3. wremw W Rfvaa .
(1) FT3 A 2) s, wanfrg (3) a,Hamfrs (4) =&

Which of the following are the objectives of the ‘SVAMITVA’ Scheme ?
A. Ensure financial stability to villagers by letting them use their property

to take loans.
Create precise land records for urban planning and implementation.

Lessen property related disputes.
Determine property tax.

) Only A (2) B, CandD (3) A, CandD (4) All of the above

83. wiHaY=al ‘Y& W& (Zero Hour) ¥c¥id @ieltel faam fe=mra =
A, THEUSAT AEH AT HATETA STvaHE 9@ 3nfot auTEE Shividal HeEiee
9. Y YR T0H Y HISUEETE!, H68 TS Hehie! 8.00 d 9.30 T dedd AN T <ard.
$. THI, I TECEEH T SHAHER S d19 Tl () ATsvar= Wamril 3.
T. Y qEEEd AH HIvdEl atqg T8, v feasht frdt yeer digar Ida

SUOow

TR HATA HI(Qr ATal
Shiedeh! It fau™ I« 3Rd ?
(1) 3 3« (2) I, FAMNE (3) & HIMUE (4) 3IJ 3T

Consider the following statements regarding “Zero Hour’ of Lok Sabha :

A. The time immediately following the question hour and laying of papers
and before any listed business is taken up in the house has come to be
known as the zero hour.

B. For raising matters during the zero hour members has to give notice
between 8.00 a.m. to 9.30 a.m. everyday to the Speaker.

C. At present, thirty matters per day as per their priority are allowed to be
raised during zero hour,

D. There is no maximum limit on the number of matters that can be raised
on any given day as there is no provision in rules about Zero Hour.

Which of the statements given above are correct ?

(1) Aand B (2) A,BandD (3) B,CandD (4) Aand D

o] FIHTETS! AT / SPACE FOR ROUGH WORK
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84. WA &3 9 TN WHA Ir=afidt wrefayas qon davmamaa arefeth worh fum ot
TRA 7

3. Yt sl o wemeR gaao & e awdt geine) amfas am

q. dEra SR Qg s vEen gedata woa R g amfie am.
%. O N fava gnadl g} amfe am.

3 ‘TUad 95 qUEer’ w1 fawn uen gefine) gmfre am.

(1) s s (2) s, sanfrg  (3) d,aanfrs (4) 31, & anfrs

Which of the following statements are correct regarding the legal relationship
between the Central and State Government in India ?

A. The subject of transfer of property other than agricultural land is included
in the Concurrent List.

B. The subject of wealth tax on property other than agricultural land is
included in the Union List.

C. The subject of entertainment tax is included in the Concurrent List.
D. The subject of ‘Antiquities Museum’ is included in the State List.
(1) A,BandC (2) B,CandD (3) A,BandD (4 A,CandD

85. AR faga =91 819 Ydiet aiqe=1 GHTaY HUaTd T, Wiefleideh! vt Jsagr
Td qUEY B A8 ?
. 31=8¢ 5137 TER qend Hded
II. 317<8% 368 THR UAIEI

After the extensive discussion in the Constituent Assembly, the following
provisions was/were included. Which Article does not include ?

I. Fundamental duties under Art. 51A

II. Constitutional Amendment under Art. 368
III. National emergency under Art. 352
IV. Ordinance under Art. 123

(1) Only I correct (2) Only Il correct

(3) All of the above are correct (4) None of the above are correct
ooyl THIHTETS AP / BPACE FOR ROUGH WORK P.T.O.
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In which State was the 10t International Tourism Mart organized in November
2022 ?

(1) Maharashtra (2) Uttar Pradesh

(3) Mizoram (4) Assam

87. Wi faum feemma U997 I vy fRee.
a. TV I et WEATN TaqTe Fev[ fageardt el
b. IgE @ By TR TS B,
c. q YS9 TS TS 3T,
(1) Had a SUet 3R
(2) a 3T b G-l TS TR
(3) a 3T ¢ S-al SUst 3ed
(4) a, b 3T ¢ TS 3T

Choose the correct option considering the following statements.

a. Ramesh Bais is appointed as the Governor of Maharashtra.
b. Earlier he was the Governor of Tripura State.

c. He belongs to Chhattisgarh State.
(1) Only a is correct

(2) a and b both are correct

(3) a and c both are correct

(4) a, b and c are correct
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88, T T ‘A AR et wreter Faer e
AN, AT AIRASA GHEITHIG BIH @ A7 A00H HOI AT,
§. A1 AifeEe araEed e S ai=h v s s,
%. 2030 wd FUNUTE IR HO 2 A1 DD ke IR,
g, & Miftw srdie sawe srgeten duived vafivam Aq.

st I fqum anea.
(1) 37 77 § U 3R
(2) & M 8 S T8
(3) A, F 37 T UK R
(4) 3, § 37 T SO IR

Examine the following statements regarding the ‘Nutrition Promotion

Campaign’ of the United Nations.

A. Afshan Khan was nominated as the co-ordinator of this Campaign.

B. Antony Blinken was nominated as the co-ordinator of this Campaign.
C. To eradicate malnutrition by 2030 is the objective of this Campaign.
D.

This campaign is implemented in countries suffering with malnutrition

in the world.

Identify the correct statements from the above.
(1) A and B are correct

(2) C and D are correct

(3) A, C and D are correct

(4) A, B and D are correct
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ﬁ 42 Q17

89. 2023 THie WENIR USATSN FFUFEIM) R HETHSTH! TATIAT H0ATH TG0 AT
O 1 11

9. [usars! gy famm ngmiEs.

%, IesAd) WETe sgavat i ey nrmEs.

T, Ha Ffm TE ga s e qEmEs.

(1) e 3 31707 S

(2) W 3, & AT

(3) e §, & T B

(4) W | A H

In the Budget 2023 of Maharashtra State, which Corporations was announced
to be established ?

A. Raje Umaji Naik Economic Development Corporation.
B. Marathwada Milk Development Corporation.

C. Jagadjyoti Mahatma Basaveshwar Economic Development
Corporation.

D. Saint Kashiba Gurav Youth Economic Development Corporation.
(1) OnlyAand D

(2) OnlyA,CandD

(3) OnlyB,CandD

(4) Only Band C

90, WIEEgd HUd I8t 2023 AHid ‘qraed AREam-33 faemg afte’ 2 I 3 ?

(1) = feeeh (2) TR

(3) FEATATE (4) TR I

Which of the following city was the host of ‘5" ASEAN-India Business Summit’
in 2023 7

(1) New Delhi (2) Dhaka

(3) Kuala Lumpur (4) Singapore city
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01, wee Rrath R el e e R s o, a e v fw s,
3. TS g dides Ik,

¥, g ey gEe gsardie freft 39 .
%. @ ddeE ToyE e anae! veEd A% AR,
3. g fig uffam didam am.

(1) %o A 9 F ST 3R

(2) S 3 9 § FUS 3R

(3) HF § 9 & SUS IR

(4) T & S AR

The Shrine of Sammed Shikharji has been in news for the past few days.
Identify the correct statements about this pilgrimage site.

A. It is the pilgrimage site of Jain community.

B. This pilgrimage site is at Girdhi in the Jharkhand State.

C. This pilgrimage site is at Aravali Mountain in Rajasthan.

D. It is the pilgrimage site of Hindu community.

(1) Only A and C are correct

(2) Only A and B are correct

(3) Only B and C are correct

(4) Only C is correct

92. ‘Gl 1 ST YT HediaTd! MM v feM Teeet ?
(1) H9E Tzd
(2) HTRIA B9ee
(3) 3IT9EMA
(4) AYEHE 9@

Which Mission did India conduct to aid earthquake affected in ‘Turkey’ ?
(1) Operation Rahat

(2) Operation Hamdard

(3) Operation Dost

(4) Operation Sakha
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93. ‘3. Hiy 15 Hevia wrefed sdat fyum/fum e,

A, o uieds sfees Safafava oo w9l quard e,

§. e Safafyua s smieen sremareh .

. Q. HU 15" I Avanmg HH .

3. UG NS SSITde WAUITEIS), AT Seai QIR SEauaTaTdt S

FOGTE TS I HUOHE Yfqures Faelt 8.
(1) 31 M § s« 3R (2) § 7T € S TR
(3) ® NPT & S MR (4) 3, & M1 T FUS 31T

Identify the correct statement/s from the following in relation to the
UN COP 15

A. The Global Biodiversity Agreement was approved by this Council.
B. The Global Biodiversity Agreement was done under the Presidency of

America.
C. China presided UN COP 15’

D. There is a need to make efforts to reduce the consequences of climate

change and the conservation of threatened species in the agreement.
(1) A and B are correct (2) B and D are correct

(3) B and C are correct (4) A, C and D are correct

94, Freiiciadhl Hofl 4 foeeft 39 Imf.u. Afeen At sifwm EARE, 2023 X IgaRH

& ?
(1) i 3=m fam 3 (2) it g W
(3) i wfma wr& (4) *fimct Seft sEsi

Who among the following inaugurated IBA Women’s World Boxing
Championship, 2023 in New Delhi ?

(1) Shri Anurag Singh Thakur (2) Shri Narendra Modi
(3) Shri Amit Shah (4) Smt. Jayashree Banerjee
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95. Wil e &,
ISR grEnR fa 2022 1
a. Wil FHersofl i, fefie
b. waft Fard i, )
c. &I 8 i, qfgees
a b C
(1) 1 iii i
(2) ii i iii
(3) iii i 1
(4) 1 ii 1ii
Match the following.
Winner of Arjun Award 2022 Sports
a. Bhakti Kulkarni i. Badminton
b. Sakshi Kumari ii. Kabaddi
c. Lakshya Sen iii. Chess
a b c
(1) 1 iil ii
(2) 1ii i iii
(3) iii ii i

(4) 1 i 111

96. TE 2023 HHd & U %e Frams anfr faem wiftesor (fi.os. i) 3 sy
TEUH HIVTAT fAgad el 3R 7

(1) iHamE g@si
(2) Teus ArEd
(3) TS Hear

(4) HUlaH SS9

Who has been appointed as the Chairman of Pension Fund Regulatory and
Development Authority (PFRDA) by Government in March 2023 ?

(1) Amitava Mukharjee

(2) Deepak Mohanty

(3) Rajesh Malhotra

(4) Supratim Bandopadhyay

&Heedl hIHTETS! SIFT / SPACE FOR ROUGH WORK P.T.O.
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97. 25 ® uha et uiwz, 2022 H13 AR heft At ?
(1) Heem - FB
(2) HEE - MR
(3) EHTETE ~ TS
(4) T - I FAR

Where was the 25t National E-Governance Conference, 2022 held ?
(1) Kollam - Kerala

(2) Mumbai - Maharashtra

(3) Ahmedabad - Gujarat

(4) Katra - Jammu Kashmir

98. FHEH! 1 2023 =1 AW g i Hioren e geft anfor wfgen anfda e 2
(1) = (2) SAHTORH
(3) TEEw (4) feguaT™

UNESCO has dedicated International Education Day of 2023 to which

country’s girls and women ?
(1) Iran (2) Afghanistan
(3) Israel (4) Vietnam

99. 2023 AW FHVT ¢ fafew ToEiT e Tt Aleae Sl AR 7

(1) Fegfern (2) e
(3) Teaegele (4) &S

Which country has removed the mention of the British Monarchy from its
currency notes in 2023 ?

(1) Australia (2) New Zealand
(3) Switzerland (4) Canada
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c. IHIYER UTS
d. g gn
a b
(1) 1 111
(2) 11 11
3) i v
(4) 1 1

1\Y
111

1\Y

11

iii.

iv.

d

v
i
i1

111

s anfor arfrrifeR

ii, Grfees amfr Rreor

U

Match the pairs about Padma Shri’ Award, 2023.

Person
a. Ramesh Patange 1.
b. Dr. Mahendra Pal 11.
c. Uma Shankar Pande 1ii,
d. Parshuram Khune iv.
a b c d
(1) 1 111 i iv
(2) 11 11 1v 1
(3) 1 v 111 i1
(4) 1 1 iv il

Theedl FIHTETS AN / SPACE FOR ROUGH WORK

Field

Science and Engineering
Literature and Education
Art

Social Work
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g ofvw wil %A o e, el qoe e s fer weAnn, e Sk g,
TerEta v fingmas uftn wed; R A fgems, qeraiie fagarae w6 s e s
¥4 gt m, S e 3een e, urarn gofs @ aeers g Fgeress afraom aw
¥R, (arerf) fagrmes w awem ow fagemme avifavarerd) ameen a, @ s S fag s
i w=A. ) fagrrm qEvaed 3w fagree g o fageem snfn oot fagaes aredE

e e W el A, A wEarien Sl ol faepmes SEA. A TETE e o
WA W A G adeursy wend waiftn A, 392 6w e, ofm arenfi g wm
fargrrms ==t &), # ot Rrgrrerdte w2, S fagrmam awan i A T g
WA T W] Saite TEa,

T FARAE G2 §F FETETE! AT A SrerEeraTEl, IEE AT s A Nl
A . R AieRen v - faof areavardt aErd swEe o e s 3w snf adomgS
wort T EE e s g #=5 i w9

T R AT A Aie g e @ fee v . margs g smemE
HigR=A A SR Fod fagavans g ad. @ awe Frosm 3 FFm wm A e
Read the following passage and answer the questions from 1 to 5.

Motors are devices that convert electrical energy to mechanical energy. Essentially,
ummurﬁa generator operating in r?vhé__r_':s) Instead of generating a current by rotating
a loop, a current suppli ses it to rotate, Useful mechanical work can
be done by attaching the rotating armature to some external device. However, as the

loop rotates in a magnetic field, the changing magnetic flux induces an emf in the
loop; this induced emf always acts to reduce the current in the loop. If this were not

the case, Lenz's law would be violated. The back emf increases in magnitude as the

e WINTATS! WM / SPACE FOR ROUGH WORK P.T.O.
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vemmtionml npwsnd of the armature increases ((The phrase back em{ js used to indicate
an eml thet tends o reduce the supplied current.) Because the voltage available to
wupply current sguals the difference between the supply voltage and the back emf,
the current in the rotating coil is limited by the back emf.

When & motor is turmed on, there is initially no back emf; thus, the current is
very lnrge hecause (1 s limited only by the resistance of the coils. As the coils begin to
rotate, the induced back emf opposes the applied voltage, and the current in the coil
w reduced Il the mechanical load increases, the motor slows down; this causes the
back eml to decrease. This reduction in the back emf increases the current in the coils
and therefore also increases the power needed from the external voltage source.

For this reason, the power requirements for starting a motor and for running
it are greater for heavy load than for light ones. If the motor is allowed to run under
no mechanical load, the back emf reduces the current to a value just large enough to
overcome energy losses due to internal energy and friction.

If a very heavy load jams the motor so that it cannot rotate, the lack of a back
emf can lead to dangerously high current in the motor's wire. If the problem is not
corrected, a fire could result.

1. v fmaesh it s s 7
(1) T e fagawame Rt w0
(2) e T i
(3) Hwdra & Ffn w0
(4) it 3= g
What is the role of a battery for a motor ?
_;}1" To generate a current by rotating a loop
(2] To supply current to the loop
(3) To generate a magnetic field
(4) To supply mechanical energy

e WIHHRE! AT / SPACE FOR ROUGH WORK
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wrzraa qrard) fagrrET T w7
(1) wmge srzvan dn qrm

(2) = seondte frgewam w0 o
(3) * Fogen wifvs s Pt @

(4) g wveren diem gitee sl wm

Why is back emfl important in a motor ?
(1) It increases the speed of the motor
{2) It reduces the current in the motor
(3] It generates useful mechanical work
(4) It reduces the torque of the motor

3.

tie =] e fagmwae geavden g ote = e 7

(1) o At g gy wemm s

(2) WO FIEE W GY A A

(3] wWm FFEr wiawn §y W e

(4) www geEardten gar e e

Why is the current initially very large when a motor is turned on ?
(1) Because the back emf is very strong

(2) Because the mechanical load is very heavy

(3) Because the resistance of the coils is very high

(4] Because there is initially no back emf

4.

g Tt i W AT, e el e w1 e

(1) @ wéa e

(2) @ amEd

(3) @ =i #A

(4) T HrevER S sfom de

What happens to the back emf, when the mechanical load on the motor increases ?
(1) It remains the same

(2) It increases

{3) It decreases
(4) It has no effect on the motor

e WIATES! W /| BPACE FOR ROUGH WORK P.T.O.
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8. W werm it wm eeTm W wEe 7

(1) smaf) g A

(2) whEm AT we A

(3) ety fagrmrsTen wuwgE uwes T fage s A e
(4] WEW wW W e

What can happen il a heavy load is given on a running motor ?
(1) The back eml increases

(2) The motor continues to operate normally

{3) The lack of back emf can lead to dangerously high current
(4) The motor stops working

g T ANEA R . 67 10 Rawi o,

wogTead arevh fen patedlt soam Fafase s o T oA, TR, AR = g
yrTaTRE Tt it 3 femm e W Enafae i &, A T (TR w3,
AR T WZIUE SR T wien i A am A g, o A e S
FF AP, SR FA I i @ e wmeh s = e e Reasaeer e e
wvEd mverren A A e St e

farar T s e e s . (@ 71 Forn e fagi freem wen T@
WA 7 U NG SEE A AR, A S o v aiids e s g e
hm:mmmmnmmaﬂammhﬁﬁmﬁhm#rmm
mmmmgﬂmhﬁmﬁmmﬁmﬁm JErR)ed Fadareurd wm
wror Sfiaga waa=n fomen wes m dibe ST qEeede (SEshR) TR S, aE W
e GwrE W 3 A e A e, A e seedeE s sieaten diatgd
itz vl e, S iR T 9, T HARA R N S T e
v B Tl S B, AR T8 ST A SR Buen g ven Wl s el
S e AT 2RI SR A TR 3R, 3T A A Y BEarEE S
3 O oA (A e sektren wae v v @ g e o A feh sttt
mnﬂ&émmﬂtﬂziﬁuaﬂﬂmmﬁ WY IFTEATSN WL HTERR Era
warame 71 & ffffren aweliad T2z, s 9 gt Swe e T,
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Resd the following passage and answer the questions 6 to 10.

Cimliless did ot excel in the skill of preparing or reconstructing star-charts.
Homwswvwr  he Tocused his hinoculars towards the skies and offered a natural explanation
of what could be seen This is what made his astronomy revolutionary., The result
was that man disappeared from the moon and was replaced by mountains. However,
eventually his astronomy became dangerous, because it shook the premises about
the world which were so taken for granted by the powerful classes and the church
which served them. This could potentially challenge the entire social structure. Any
person who dared to do this, had to accept the risk therein.

Science is not just a collection of experimental information. Any given experiment
is not considered as great, unless it offers a conclusive solution to a controversial
theory. Similarly, unless it offers a plausible explanation to perplexing experimental
data; or it helps predict the conclusions of an experiment which has not yet been done,
the said theory is not considered as a great leap forward. If one wishes to see the tight-
knit interrelationships between science and production; between the ascendance of
new capitalism and the era of local discoveries, one has to study the trajectories along
which the center of science in Europe has shifted. Leeuwenhoek, a gatekeeper in Delft,
sharpened the lens he was using and created the first good microscope out of it. He
used it to observe droplets of water and the small microbes therein. The Royal Society
of London sent its secretary to meet Leeuwenhoek, and published his research articles.
This very society had earlier published Ready's writings against the school of ‘Arbitrary
Creation’, which eventually helped to solve the very real problem of food-stock. The
idea of giving the credit of an invention to its first author is a comparatively new idea
Even Newton was averse to the idea of bringing his inventions into the limelight. The
tendency of hiding valuable secrets in the form of monopoly is even more deep rooted
as one travels back in the past. The process changes because of the social nature of
production, however, the tools of production are privately owned and hence, patents,
guilds and monopoly are insisted upon at the level of technique and production

S HIHTETE AN / SPACE FOR ROUGH WORK FTOD
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6. W IMaresa phetd S faum fflro sm a7
(1) @Eanfte tom wemds 2adiareard &m s sered mufrae st & i
) = R we W wE
(3) fawmm wrnfis srfifren s FEa T
(4) wiwEfh wewn smyfe am
Which of the following statements holds true according to the passage 7

(1) Royal Society of London refused to publish the research articles written
by a gatekeeper named Leeuwenhoek

{2) Church served the powerful classes

(3] Science does not include a store of experimental information
(4) The idea of copyright is modern

7. T TATAEAR 922 | TrRara] WHE GEN A s
(1) T ardm o 39 T8
(2) FeargAT wnaA wre arerhl I
(3) Tow " GZEen a2
) R s g o e e

According to the passage, patent and copynight are insisted upon because
(1) One cannot take any risk in science

(2} Tools of production are privately owned
(3) Royal Society approves the patents
(4] They offer an explanation for perplexing data

8. @ waEn wEe) fzm frim werern s aEEn A 7
(1) st i s T
(2w dmis &2 wgen
(3) TAWE SrEE ST GiigdE wiw e
(4) A= TEEAA T R

When is a theory considered as very important, according to the author ?
(1) It does not contain experimental data
(2] It changes the centre of science
(3) It offers an explanation to perplexing data
(4) It is accepted in the Royal Society
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9, iferaia e WS w1 3% e 7
(1) TaTen FAEEE giEm i T
(2) warem Frfioriss wgmETn av@E T wEn
(3] " s andfahE &
(4) wamarh wiE i U TR FEEE R FTE wHe
Why did the astronomy of Galileo become dangerous ?
{1} He could not prepare star charts

(2) His observations were responsible for disappearance of man from the moon
{(3) He offered a natural interpretation

(4) He challenged the axioms about the world which the powerful took
for granted

10. T FAUHAN HaTea F19 Fd 7
(1) e RREaTTE WA W
(2) wafem aurEsTaeden e e
(3) g ST fogm wEen
(4) Fim amga aweEn fesae Priem %@
According to this passage, what did Leeuwenhoek do ?
(1) He created a food reserve out of small microbes
i2) He supported the established social system
(3) He proposed the theory of arbitrary creation
(4) He sharpened the lens and observed small microbes
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CHO

I
HO—C — H

|
HO— C —H CHO

| I
H—C—OH OR (HO—C — H),

H—C—OH CH,0H
| Tt H
CH,OH
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Read the following passage and answer the questions 16 to 20.

Many organic compounds contain carbon (C), hydrogen [H), oxygen (O);
and some of them also have additional elements such as nitrogen (N), halogens
(X = ClL Br, 1} etc. The bond /s between the atoms in organic compounds are covalent,
and are indicated by a ' - ' eg. in methane, CH,, each hydrogen and carbon has a
single covalent bond

Orgamie chemistry 15 also called the chemistry of functional groups (an
atom or group of atoms that confers specific characteristics to that compound)
eg. the functional group (FG) is hydroxyl, — O — H and the compounds formed
are alcohols (R-O-H) where - R is alkyl group (—R is — C_H,..; and ‘n’ is the
number of carbon atoms). The FG carbonyl > C = O has two arrangements:

H H H

| | |
(i) mldehydic, — C = O the compound is aldehyde (H—_C = Qor R—C = 0)

O
i _ I
and (ii) ketonic, >C = O and the compound is ketone (R, —C = R, where
R, = R,or R, # R,). The combination of carbonyl group with hydroxyl group

OH

I
gves —C = 0 ie. carboxyl functional group, and the compounds formed are
OH OH

carboxylic acids (H —C = 0 and R —C = 0). Carboxylic acids react with
alcohols in presence of concentrated H,S0, yields esters, whose general formula is
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(H—C —ORor R—C —ﬂR,Whtrcﬂﬂ = R, or R # R,). The characteristic

properties of esters are because of — C — O — functional group.
Bodies of living organisms nnntmg;l larﬁe number of different bi-_'l::]mnle:cuhu e
I I
carbohydrates, proteins (contain —C — N —, lipids (contain —C — Q0 —) etc.
which constitute their structure, and are also part of various physiclogical processes
taking place in them. Thus, hydrogen forms only one, oxygen forms only two, nitrogen
forms only three, and carbon forms only four covalent bonds.

Though most of carbohydrates are represented by a general formula C_(H,0)
i.e. hydrates of carbon, they are chemically polyhydroxy aldehydes (or ketones
eg. CgH ;0 is either glucose or fructose or galactose, They cannot be hydrolyzed
further, hence are called monosaccharides. Disaccharides eg. sucrose, C,,H,;,0¢4,
on hydrolysis (using one H,0) yields two molecules of monosaccharides: glucose
and fructose. Trisaccharides eg. raffinose, C,zH,,0, ., on hydrolysis (using two H,0)
yields three monosaccharides one unit of each: glucose, fructose and galactose.
Polysaccharide eg. starch, (CH 1095y, 15 a common ingredient of food grain, on
hydrolysis yields a very large number of units of glucose.

Monosaccharide with an aldehydic carbonyl group is called aldose, and their
names will have suffix ‘ose’ eg. Mannose, E&HHDE' While that with a ketonic
carbonyl group is called ketose, and their some names end with “ulose’. These names
are further modified in accordance with the total number of carbon atoms in the
monosaccharide eg. Mannose, CgH;,0, can also be called aldohexose.

CHO
|

HO—C —H
I

HO— C —H CHO

| I
H—C—0OH OR (HO—C — H),
| |
H— C—OH CH,OH
| Structure of mannose
CH,OH
Structure of mannose

WS WIHTATS! 9T / SPACE FOR ROUGH WORK P.T.O.



ﬂ 16 R17

The smallest aldose, and the only one whose name does not end in “ose”, is
glveeraldehyde. It has a chiral center or has an asymmetric carbon* atom |a carbon
atom bonded to four different atoms or groups). A molecule with a chiral center has
a pair of enantiomers which are related to each other as object and its mirror image,
Each isomer of this pair rotates the plane polarized light in equal magnitude but in
opposite directions.

H\t’?n
|
HO = C*— H
|
CH,OH

Glyceraldehyde

This property (optical activity) is shown only by those organic compounds which
have a chiral center. One can arrive at the number of optical isomers using the
relation 27, where n is the number of chiral centers. The molecules having the same
molecular formula but different structures are called isomers. If the isomers carry
different functional groups, they are called functional isomers, and the phenomenon
is called functional isomerism.

P

C— OH
I
O
(1) IR, UF FEs AR (2) srEEESTR ZEE, U AR
(3) FederTaE, oE wEEE AR (4] U FHEES T
CH,

The compound H _C — OH ie. Ea{Hzﬂ}a s
|

C — OH

]

O
(1) Aldotriose, a carbohydrate (2) Dihydroxy triose, a carbohydrate
(3) Ketotriose, a carbohydrate (4) Mot a carbohydrate
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17. &1 A" | Fefn 399e (f7 H,0 Tve3) 3 offidl 33 36 0 R T, T

PN uw T 2 e TwE T R, A’ R T ® 3.
(1) C34H44033 (2) Cp4Hag024
(3) C‘H Hq.:uz] (4] E‘H Hmnlﬂ

The compound ‘A’ undergoes hydrolysis (Using three H,0) under appropriate
conditions to form a unit of glucose, a unit of fructose and two units of
galactose. The molecular formula of the compound ‘A’ is

(1] Cy4H44029 (2] C4Hag024
(3) Cy4H4204, (4 CgqHgpO20

18. wrEetd wom i wg A’ wfh ‘B s anedta s I 7

A B
ti:HiﬂH H—C =0
C=0 (HO—C— H),

(HO — ? — H), CH,OH

CH,OH
(1) A i B fi wa vl wfafafisin ama
(2) A afr B & wam v farers w2 swE e
(3) A i B & v sffafrein sfn S e awgh sma
(4) A 3nfn B # i wiafafasin amd snf fraers 72 aagdd ifa
Which of the following option is correct about compounds A and B ?

A B
tlst-lﬂm-: H—C =0

i
"|: =0 (HO —C — Hj,
(HO — (I: — H4 CH,0OH

CH,OH

(1) A and B are only optical isomers of each other

(2) A and B are only functional isomers of each other

(3) A and B are optical as well as functional isomers of each other

(4] A and B are neither optical nor functional isomers of each other
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CH,OH

C=0
19. u-;n—r!:— H), R ¥ amk ufer wm wftfifiesRaren ______ Sen s,

CH,0H
(1) fedvbwra, 4 (2) feditwt, 8 (3) el 4 (4) FeEHEE, 8
?HEDH
C=0
l
The compound (HO—C— H);isa and has __ pairs

of optical isomers.
CH,OH
(1) Ketohexose, 4 (2) Ketohexose, 8 (3) Aldohexose, 4 (4] Aldohexose, B

20. arlield wvr g s femfem graade 7

CH,4 CH, -
| | x> -
H—-—C—0H H—C-—Cl f]:
| |
CH, H
A B C

(1) =RA®MB (2) TMANMC (3) *MBawMC ¢ ==
Which of the following compounds will show optical activity ?

CH,4 CH, -l
| l N -
H—C —0H H—-C-—-CI 'Ell
| |
{fH: CH, CH, _(|: — OH
CH, H
A B C
(1) Only A and B (2) Only A and C
(3) Only B and C (4) All of the above
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Read the following passage and answer the questions 21 to 25 :

In the post-independence perind, the national government made the anti-caste
campaign a part of its state policy, through propaganda, laws, educational concessions
to backward castes, financial aid and reserved jobs. The efforts of the national
government to destroy the caste system by providing propaganda, laws, financial
assistance 10 the backward casies and reserved jobs have continued unabated.
When India ranks high among the leading democracies of the world, it cannot be
acceptable to discriminate between people based on birth in a nation that is the
cradle of democracy. Since the basic principles of democracy are against the caste
system, il came to pass that the caste system cannot continue in democratic India,
The efforts made by the government in this regard have been very successful and the
rate of education among the backward castes is increasing. To the extent that the
lower castes become educated, the distance between the castes will dissolve.

We will try to analyze whether the caste system survives in India today or not on
the basis of the following factors. Existence of caste system depends on the following
qualifinng factors. (1) Determination of prestige by birth, (2) Prohibition of choice of
profession, [3) Prohibition of exogamy, (4) Discrimination between castes in social,
political and religious rights, (5) Supeniority of the Brahmin caste.

The vitality of the castes can be imagined from their existence in the society.
Therefore, on the basis of these five aspects, let us now discuss the existence of the
caste system. According to the scholars of caste systemn, the caste system has been
eradicated. Today, a person's reputation does not depend on the caste he is born into.
Freedom of choice of occupation has been granted to everyone by the Constitution
itsell. The social supenority of Brahmins has always been usurped from them. From
all these things it is not a problem to draw a conclusion that the caste system has

almost been destroyed.
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Freedom of choice of profession has been granted to everyone by the constitution
itself. It is no longer possible to force the child of the matangas to remain a matanga.
It is no longer possible to decide which occupation one should do according to caste.
The spread of education and the educational and financial concessions given to the
backward castes have forced the society to adopt & liberal policy towards business.
Although this is true, some castes prefer to stick to their traditional mwﬁm:.
This is also a fact. A person takes two things into consideration while choosing any
business, profit earned and the social status acquired through the business. According
to Davies, the prestige of any social place depends on the importance of the occupation
that the place has to offer.

21. wefie it wve e a7
A3 mmmmmmmmwmmm
Eivame wed dde
?.[ﬂl v fardta s R wvea Ry ae Al
(3) mmmmmm@mmmmmm
(4) FrETER I T TsERen g

Which of the following statements is not true ?

(1) Increased level of education among the socially backward sections helps
to bring the social equality

(2) A society without discrimination is not a principle of sustainable
development

(3) Provisions in the Indian Constitution and government policies help to
reduce caste discrimination

(4) The basic principle of democracy is against caste system
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22. arfEtd som e v sm o7
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Which of the following statements is correct ?

A.
B.

C.

(1)
(2)
13)
(4]

Absence of social inequality is a sign of development of India.
Educational development among backward elements is not important to
reduce social disparity.

Indian society stands on the boundaries of class and caste, so the caste
system has not been completely abolished in Indian society.

A B, C

A, B

A C

None of the above

23. FdterEen SfEwEn s e wod e el 2
(1) === JmarrE ol wmfas i
(2) =t W w0 T T f

(3]

wrata®, T anfn st srfmmrem T smom g

(4) =mawm Fede s T

Which of the following statement is not true for existence of caste system ?

(1)
(2)
(3)
(4]

Social status based on birth

Doership is an important issue for caste system instead of birth
Favoritism towards socio-political and economic authorities
Lack of freedom of choice of occupation
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Consider the following statements :
A. According to Davies, the prestige of any social position depends on the
importance of the business assigned to that position.
B. While choosing a business, a person thinks about the financial gain
from that business and the social prestige gained by the business.
(1) Both of the above statements are true and B is the reason for statement A
(2) Both of the above statements are true and B is not the reason for staternent A

(3) Statement A is correct, B is false
(4) Statement A is false, B is correct

25. WA w0 foam we AR 7
A, =Emm faden e ad- e e w6 fm T we
B =mamm Pegvaren sgnudard) v fawm e gan sifn grnfes - snfds

HPTEE] T2k M= Haerd g &1 38,
J5. wmfes e aiffes i @ ssewm Fadia Sommé s e .
(1) =, (2] ® F (3 =% (4) wfte wd

Which of the following statements is true ?

A.  Freedom of choice of oecupation helps in reducing caste discrimination.

B. Development of the liberal policy of choosing occupations is due to the
spread of education and concessions to the socio-economically backward

sections,
C. Social and religious prestige has no influence on career choice.
(1) A, C (2) B,C (3) A B (4) All of the above
T FNTHIS! WM [ SPACE FOR ROUGH WORK PT.0.
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Read the following passage and answer the Q. No. 26 to Q. No. 30,

After Gandhi’s comment on Hind Swaraj in 1908, the meaning of self-rule and
self-determination continued and clarified. Once it was meant as independence or
sell governed country of the Indian people as a developed country; If many people
understand India to be an international government, here ‘selfl " means India and in
this context, Swaraj means independence of India as a nation. In the Hind Swaraj,
the difference 1s not expected only Kale Saheb instead of Gore Saheb. Gandhi would
have seen the all-round emancipation of the Indian people. According to Gandhi's
opinion, every village would have to enjoy Swaraj or self-government; Though the roar
of Lokmanya Tilak 'Swaraj is my birthright and [ will got it,’ spread the concept of
Swaraj all over India. But Gandhi gave it a detailed, philosophic meaning. The method
of understanding self-determination was interpreted in the Hind Swaraj. However,
each use of this method starts a discussion like the earlier century. There were many
contradictions within Gandhi's own theory and in some incidents of his behavior led
to many objections. Gandhi's soft policy on criticisms of capitalism, caste system
and religious practices were based on reality. Gandhi's base method of thoughts of
Swaraj was useful the beginning line for the rethinking of democratic revolution; we
can follow this statement and the experience of last century the meaning of Swaraj
has evolved into an all-inclusive freedom which is continuously making new orbit.

In the agricultural struggle ‘Kasel Tyachi Zameen' Swaraj got classified
measurements. Here the full rainbow of ideclogies from Gandhian to Marxist-Leninist
is visible and the differences within each! The struggle of Indian democracy still
discusses on the freedom of the landless, poor farm worker and unerganized workers
and policies of it. Swaraj of the outcaste or Dalit and low-caste got central position
in Indian political programme. Gandhiji’s Harjjan Welfare Plan, Ambedkar's Dalit
Mukt Plan and combining the basic elements of both with the government's policy
of reservation has brought another innovative flow in the social transformation of
contemporary India. The Swaraj concept for women was originated from the women’s
education programme started in freedom movement by Gandhiji. In the last three
decades, the Indian women's movement has given a new height to the commentary on
Indian democracy. It exposed the patriarchal dimensions of social structure, culture
and the day today behaviour. Apart from this, the new principle of dominance and
liberty was to formulated. So far, the methods of the unknown dominant ways the
society have been suggested. In this way, a feminist theory would be a social theory.
It is not only the analysing patriarchal system and does not fight against the state.
It analyses all types of dominance and searches freedom in all fields.
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Which of the following factor/s are included in the concept of ‘Swaraj’ ?
A. Method of understanding self-determination.

B. Every village should experience self-government.

C. Lokmanya Tilak spread the concept of "‘Swaraj' all over the India.
D. Mahatma Gandhi elaborated the concept of ‘Swaraj’.

(1) Only Aand B (2) Only B and D
(3) OnlyB,CandD () A,B,CandD
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In which of the following categories did the ‘Swaraj’ concept get classified
measurements ?

A. Mahatma Gandhi's 'Harijan Welfare Plan’,
B. Struggle for Kasel Tyachi Zameen’,

C. Dr. Ambedkar's Dalit Mukti Plan',

D. Struggle of Indian Democracy.

(1) Only B and C (2) Only B
(3] Only A and C (4) OnlyB, Cand D
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Which of the following factor/s has got central position in the political
programme of the India ?

A. Harijan Welfare Plan

B. Dalit Mukti Plan

C. Swaraj of outcaste and Dalits
D. Swara) of lower castes

(1} Only A and C 2] Only Band D
i3] A,B,Cand D (4] Only A, Band C
29. WAl S s i Sed st s wEl
¥ TiEd a=m=
w. "t SiEdEe a2as
%, Wifaws T2,
E. Hﬁﬂﬁwﬂm“mm?\
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In which of the following factor/s did the Indian Democracy become more
widespread ?

A. Feminist Movement

B. Social Reformist Movement

C. Agricultural Movement

D. Unorganized Sector Workers Movement

(1) A,B,CandD (2) Only A, Band C

(3) Only B, C and D (4) Only A, Cand D
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In respect of "Swaraj' concept identify the correct factors among the following.
A. Due to 'Swaraj' Movement Indian Democracy Developed.

B. 'Swaraj' concept includes all round liberation of the Indian people.

C. Only self-rule includes in the "Swaraj' concept.

D. Only self-determination includes in the 'Swaraj' concept.

(1) A, Ccorrect (2] A,Bcorrect (3) B, Dcorrect (4) C, D correct
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Read the following passage and answer the questions from 31 to 35.
Btate of the Indian Economy

The last two yvears have been difficult for the world economy on account of the
COVID-19 pandemic. Repeated waves of infection, supply-chain disruptions and
more recently, inflation have created particularly challenging times for policy making.
Faced with these challenges, the Government of India's immediate response was a
bouquet of safety nets to cushion the impact on vulnerable sections of society and the
business sector. It next pushed through a significant increase in capital expenditure on
infrastructure to build back medium-term demand as well as aggressively implemented
supply side measures to prepare the economy for a sustained long-term expansion.

Advance estimates suggest that the Indian economy is expected to witness real
GDP expansion of 9.2 per cent in 2021-22 after contraction in it in 2020-21. This
implies that overall economic activities have recovered past the pre-pandemic levels.
Almost all indicators show that the economic impact of the “second wave” in Q1 was
much smaller than that experienced during the full lockdown phase in 2020-21 even
though the health impact was more severe.

Agriculture and allied sectors have been least impacted by the pandemic and
the sector is expected to grow by 3.9 per cent in 2021-22 after growing at 3.6 per cent
in the previous year, Advance estimates suggest that the GVA of Industry (including
mining and construction) will rise by 11.8 per cent in 2021-22 after contracting by
7 per cent in 2020-21. The service sector has been hit the hardest by the pandemic;
especially segments that involve human contact. This sector is estimated to grow by
8.2 per cent this financial year following last year's 8.4 per cent contraction.

Total consumption is estimated to have grown by 7 per cent in 2021-22 with
significant contributions from government spending. Similarly, Gross Fixed Capital
Formation exceeded pre-pandemic levels on the back of ramped up public expenditure
on infrastructure. Exports of both goods and services have been exceptionally strong
so far in 2021-22, but imports also recovered strongly with recovery in domestic

demand as well as higher international commodity prices,

31. uhw fafeed archatd Soft wfn 4= soEh am 7

(1) Hantem e g (2) TES - AR g
(3) wWEER (4) == =
Which of the following have created challenging times for policy-making ?
(1) Repeated waves of infection (2) Supply - chain disruptions
(3) Inflation {4} All of the above
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Which measures have been implemented by the government of India to prepare

the economy for a sustained long-term expansion ?

A. Bouquet of safety-nets to vulnerable sections of society and business
sector.

B. Significant increase in capital expenditure on infrastructure,

C. To build back medium-term demand.

D. Aggressively implemented supply-side measures.

Choose the correct option.

(1) Only A (2) Only B

(3) Aand B (4 A,B,CandD

WINE Feraeee, 9§ 2020-21 6 WilE 98T 92 weaEe |, 8 2021-22 76 Ee

AR TE 9 3RUEA 9.2% 3 9Ra. arEn 3 e ),

JA) w3 SR g e A e,

A2) wd freds gifaam 1, qeem e often famdidte soffs ofterm &9 2020-21
miftel quf Zr@adman #5 F.

(3) ften wewed e EEaiis gl der Tem,

(4) (1) o (2)

Advance estimates suggest that the Indian economy is expected to witness
real GDP expansion of 9.2 per cent in 2021-22 after contracting in 2020-21.
This implies that

(1} Owverall economic activity has recovered past the pre-pandemic levels.

(2) Almost all indicators show that the economic impact of the *second wave"
in Q1 was much smaller than full lockdown phase in 2020-21.

(3) The impact on health sector was not severe during first wave,
(4) (1) and (2)
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In the year 2021-22, which productive sector of India will show the better
performance ?
(1) Agriculture and allied sectors
(2) Industry (including mining and construction)
(3) Service sector
(4) All the above

35, =¥ 2021-22 Ao TN INM 7% I AR FET FGH AR HO,

() A wEiE - wiE amee

(2) =R gEmEd wEmen oE R geae B o

(3) =% snfth #@= Pt 2021-22 192 svEREEEiED WS

(4) =m =E

Total consumption is estimated to grow by 7 per cent in 2021-22 because
of

(1} Significant contributions from government spending

[2) Gross Fixed Capital Formation exceeded pre-pandemic levels

(3] Exports of both goods and services have been exceptionally strong
(4) All the above

e T AT 9. . 36 AW, . 40 i awt
e watam amE
T HRHG SUEAT 918 3R, 19099 WE w6 A 2O SIS, HHE 2
I gT W SEen WR. (391 25 #e MEw garn @ 250 e ai e vl aeen ).
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Read the following passage and answer the questions 36 to 40.
““Global Environmental Changes"'

Human population has been growing rapidly. It has crossed 6 billion mark
in 1999, Per capita consumption of resources has increased to many times
{e.g. 25 litres of fresh water to 250 litres/day). This has strained in life supporting
system of earth and brought about a number of environmental changes on a global
scale.

i. Forest cover of the world was 50% of land area in the decade of 1900, 40% of land
in the decade of 1950s and less than 30% in the decade of 2000. It has resulted
in increased desertification, irregular rainfall, more floods, increased soil erosion,
loss of perrenial flow in rivers, reduced ground water and therefore, increased
drought.

ii. More and more people are migrating to towns and cities, There is rise in the number

of slums and consequently, an increase in filth and pollution.

Increase in quantity of solid wastes.
Rise in industrial wastes and pollutants.
Increased passage of fertilizers and pesticides in water bodies and food chains.

High rate of consumption of fossil fuels is adding CO,, S0, and a number of other

gases and chemicals into the atmosphere causing acid rain, ozone depletion, global

warming and frequent foggy weather.

Green House Effect is a warming effect found in a green house by allowing solar
radiations to pass in, but preventing long wave heat radiations to pass out due to
glass panes, water vapours and carbon dioxide. Because of it, green houses are used
for growing tropical plants in temperate areas. Green house warm up is similar to the
inside of a car parked in the sun for an hour or so. Dusty/humid /cloudy nights are
warmer due to this phenomenon.
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(1) 50% 9 am=A (2) 60% e AT
(3) W 30% (4) 30% tun waft

How much forest cover of the world was of land area in decade of 2000 ?

(1) More than 50% (2] More than 60%
(3) 30% only (4] Leas than 30%
37. 1999 wef gl swren fsd e 7
(1) 4 == (2) 5 ¥R (3) 6 % (4) 3 ¥&x
How much was the human population in 1999 ?
(1) 4 billion (2) 5 billion (3) 6 billion (4) 3 billion
38, TS TETEN ETETGE: HOH RS IgHEH A 7
A it v
B. Y& FEe Wi
S HrEdiem
D. TS TR 3R
wireteh S e/ faas st s 7
(1) AwH ~12) A, C3zni%D
(3) A 3nf B % (4) A, B3f D

Deforestation in the world has resulted in which calamities ?
A. Irregular rainfall

B. Increased ground water

C. Desertification

D. Increased drought

Which of the statement given above is/are correct ?

(1) A only (2) A, CandD
(3) A and B only 4) A,Band D
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High rate of consumption of fossil fuel resulted in which effects ?
A. Acid rain
B. Ozone depletion
C. Clean weather
D. Frequent foggy weather
Which of the statement given above is/are correct ?
(1) A only {2) AandB only
(3] A,Band D (4 A, BandC

40. wfR vfvm wR T 7 AR T2 FIVH FRO GRS TR 7
A w el drfeoimnta w35 AeEv TE aEEaTe TN .
B R Yo U AV A O e S A e .
C.. Tt wyime sersdradiE st e sferern atR e T,
. lve RS T SeER R,
attetl wiom faum/fos s sma 2
(1) A% (2) AN BwE (3) A, BwD 44 A, B, CanfD
What iz green house effect ? And what are the reasons for climate change ?
A. It is warming effect found in green house by allowing solar radiation to
pass in,
B. Green house warm up is similar to the inside of car parked in the sun
for an hour.
C. Green houses are used for growing tropical plants in temperate areas.

D. Green house effects causes warmer nights.
Which of the statement given is/are correct ?

(1) Aonly (2) AandBonly (3) A,BandD (4) A,B,CandD
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Read the following passage carefully and answer the Q. No. 41 to Q. No. 48.

On top of nuclear war, in the coming decades humankin | face a new
existential threat that hardly registered on the _political : ecological

gollapse. Humans are destabilising the globul biosphere on multiple fronts. We are
taking more and more resources out of the environment, while pumping back into it
enormous quantities of waste and poison, thereby changing the composition of the
soil, the water and the atmosphere,

We are hardly even aware of lhin which we disrupt the delicate

ecological balance that has been shaped over millions of years. Consider, for example,
the use of phosphorus as a fertiliser. In small quantities it is an essential nutrient for
the growth of plants. But in excessive amounts it becomes toxic. Modern industrial
farming is based on artificially fertilising the fields with plenty of phosphorus, but
the high-phosphorus run-off from the farms subsequently poisons rivers, lakes and
oceans, with a devastating impact on marine life. A farmer growing corn in lowa might
thus inadvertently kill fish in the Gulf of Mexico.

As a result of such activities, habitats are degraded, animals and plants are
becoming extinct, and entire ecosystems such as the Australian Great Barrier Reef
and the Amazon rainforest might be destroyed. For thousands of years Homo sapiens
behaved as an ecological serial killer; now it is moerphing into an ecological mass
murderer. If we continue with our present course it will cause not just the ihi ]
of a large percentage of all life forms, but it might also sap the foundations of human
civilisation.

Most threatening of all is the prospect of climate change. Humans have been
around for hundreds of thousands of years, and have survived numerous ice ages
and warm spells. However, agriculture, cities and complex societies have existed
for no more than 10,000 years. During this period, known as 1.h Earth's
climate has been relatively stable. Any deviation from Holocene standards will present
human societies with enormous challenges they never encountered before. It will be
like conducting an open-ended experiment on billions of human guinea pigs. Even if
human civilisation eventually adapts to the new conditions, who knows how many
victims might perish in the process of adaptation.

41. Which threat was not recognized by global politicians during the second half
of the 20" Century ?

(1} Nuclear war threat

(2} Ecological destruction

{3) Threat of degradation of human life
(4) None of the above

W WISl WM [ BPACE FOR ROUGH WORK P.T.O.



ﬂ as R17
42. What is the reason of destructive effects on sea life, according to the passage 7
(1) Use of artificial nutrients
{2) Ower uae of natural resources
(3) Excessive use of phosphorus in farming that gets washed into sea, rivers
and make them toxic

(4) Nuclear Testing

43. Which of the following statements are true in the context of the given passage ?
a. Human beings fully know that they are causing ecological imbalance
_¥. During Holocene period, climate was stable
J  Modern industrial farming is based on overuse of phosphorus

4. Amazon rain forest will not get destroyed irrespective of man's
disruptive activities

(1) aandb (2) bandd (3) bandc (4) onlyb
44. Match the following.
A B
a. exist I. be faced with
b. enormous iI. large number of something
€. encounter Ill. complete destruction
d. annihilation IV. survive
e. myriad V. extremely large
a b c d e
(1) o 1 m 1w v
(2) m m 1 v v
A IV V1 m o
(4) 1 m ww n v

45. Choose the most appropriate option :

Modern man has turned into . according to the writer.

| guinea pig to do experiment on
(2) an ecological mass murderer
(3) an ecological serial killer
‘E’-j. both an ecological serial killer and mass murderer
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Read the following passage and answer the questions 46 to 50.
“Coral Reef Ecosystem”

Coral require temperatures between 23°C to 25°C for their growth. The minimum
temperature must not go below 18°C. This temperature requirement restricts their
growth to tropical waters between 30° N and 30" S |latitudes away {rom cold water
currents. The diversity of coral reefs decrease in higher latitudes to about 30" N and
30" 5 latitudes. North or South of this zone, coral growth does not occur. However,
corals lving in the path of northward moving warm water are an exception to this
rule. The largest concentration occurs near the equator where water temperatures
are highest. The main obstacle to coral growth in low latitudes along the east coast
of oceans (west coast of continents) is the presence of cool water with a temperature

lower than 18°C for at least part of the year,

The exceptional occurrence of small reefs on the north eastern side of the pearl
islands, Gulf of Panama results from a local absence of upwelling, whereas on the
South western side coral growth is inhibited by cool upwelling caused by north easterly
trade winds. Coral growth is locally hindered by summer cool upwelling in parts of
the Somalian coast.

Between the Persian Gulf and the Gulf of Agaba the difference in coral growth
is due to the Shamal, a cold north westerly wind blowing in winter over the northem
part of the Persian Gulf so that temperature in that area is lowered to 15°C and
sometimes to even 13.2°C on the Kuwait reefs. At high latitudes, such as Lord Howe
Island, reef growth results from the East Australian warm current which flows from
the coral sea to the Southern ocean; the Bermuda receive warm water flowing along
the right hand side of the Gulf stream (19°C to 27°C); Southern Japanese [slands are
favoured by the warm Kuroshio current (20°C - 28°C). The exceptional occurrence of
Houtman's Abrolhas, western Australia results from Leeuwin current which flows
pole wards along this coast and carries warm equatorial pacific water around north
west Australia.
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(1) #mmm 10° & A 23° @ goamw

A2) wmmE 23° 8 & 25° @ g
(3) wmmE 25° A4 & 30° A TR
(4) AMERR O A A 10° A oA
Which of the following temperature conditions is the most favourable for
the growth of coral ?
(1) Temperatures between 10°C to 23°C
(2) Temperatures between 23°C to 25°C
(3] Temperatures between 25°C to 30°C
(4) Temperatures between 0°C to 10°C

47. = yiven e e e Rl aee g 2 o
(1) Ser=n offem R ¥ia wame T e
(2) $w=m 3 s sl At wETes et fafidn sy e wem
(3) werem wfvem fararmes gt e vame T
18 =0e % T
Along the west coast of continents coral reef formations are not observed because
(1) Prevalence of cool ocean currents flowing along the west coast of

continents

(2) The north-east and south-east trade winds create obstacles in the coral
formation

(3) The equatorial warm current starts from the western coast of the continents

(4] None of the above
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Which of the following are the exceptional occurrences of coral reefs in

the world ?

a. Lord Howe Island

b. Houtman's Abrolhas

c. Gulf of Guinea
d. Somalian coast

(1) Only aand b (2} Onlybandec
[3) Only aandc (4] Onlycandd
49. TS IR VI FEE @ER S qais e 7
(1) fawssia wwrdl wemm (2) T @ T

(3) wfeés gemerm=n Al A (4) T Hizada JT wrTm
In which part of the world the largest concentration of coral reef occurs ?

(1} Near the equatorial waters {2) Near the tropic of cancer

(3) MNear the Arctic circle {4) In the temperate region

s0. e 4 Fom gew vae s aden som s R
M) ETR S e
(2] \PR FETE I
(3] =R T TSR

(4) hfErwamETES waE

Which of the following factor is responsible for low coral growth ?
(1) Downwelling of sea water

(2) Upwelling of sea water

(3) Under current of sea water

(4) Thermohaline current
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B1. T H&A e, ‘hope to see you' W1 ¥ ‘ re so na di’ 3 3, ‘please cg_{_':ft to"5°

‘Ee u:: p::y-mﬂh Frgena d{kr 7z 3@ 3, ‘hope to come' 1 %4 ‘di so ge’
38 3R 3 ‘see you the party' 1 #%4 ‘re fi zo na' 38 .
W yome s ‘please see you W) faven watain afem divn fra.
\ ),u ke te gm

{2) ba od ke

(3) te ba ke

{4) sute ba

In a certain code language, ‘hope to see you' is coded as *re so na di’, ‘please
come to see the party’ is coded as ‘fi ge na di ke zo’, ‘hope to come’ is coded

as ‘di so ge' and "see you the party’ is coded as re fi zo na'.

Study the coding system used and select the appropriate code for ‘please see you'".

(1) ke tegm
(2) baod ke
(3) te ba ke

{4) sute ba
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52. Jureie frwh w s, wTen WrqES e e[ ¥ w1 A Rl SR T 3.

N ﬂﬂiﬂhﬁlﬁﬂdmwfﬁﬁrﬂm.m'ww1
e i v o7 whivsfim s, feeven wafarE @ fref werh @ea fmont/ 0 fem g/
o frag,

A3) wwm d e (4) wF e
Study the below triangular card. It is folded along lines and joined to malke
a pyramid. Given below are top views of this pyramid. Alphabets B, G, R and
Y represent colours blue, green, red and yellow respectively. Select the odd

top view /s of this pyramid from given options.

G
R
B
(1) Dnlg,r a Eitherborc
(3) Eitherdore |:4] Only e

mmmﬂm;n&umnmm
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“-@miﬂMWM qra eyl ) Seven & me v e i,
A R, i) u A e w k. W) g e e o e, G A
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M ST Wit A ) e fa e

v
W : f Fran w0 gl o AR aen e e modt e Pesen e, @ ed w

m.ﬁwm.

0 : ) siven ivasvaTeTA) e A ) s e,
M : 9 v Freen. @ 9 e wee .
*

wew Firden s frdve o woba feen,
(1) =
@2 =

M

(4) @ snfin = @ S owfima www fiwen

Mo, To and Vo who belong to three different communities, participated in
a dancing competition and one of them won the trophy. They belong to
communities namely Koki, Poki and Toki. All members of Koki community
always make true statements, all members of Poki community always make
untrue statements and all members of Toki community always male trues

and untrue statements alternatively. They made following statements when
reparter asked them to comment.

Mo : If Vo had not disturbed me by laughing loudly while dancing [ would
have won the trophy. Vo always speaks the truth. Vo is the winner.

Vo : | was not laughing to disturb Mo. To won the trophy.

To : Mo won the trophy. Vo is not the member of Poki community.,

Select the option that indicates the person who won the trophy.

(1) Mo
@ Vo
(3) To
(4) To and Mo have jointly won the trophy

ey WA WTT / SPACE FOR ROUGH WORK P.T.O.



m 44 R17

B4, !hm-mmm&@ wermgy syaATIT frg oeE
mrn o g fenaraam wg_ s ﬂi'lm:mil AT AT T
mmﬂhmmmmﬂnmmmmﬂﬂmﬂ’hmﬁ
W wwen 7w weha. s, oy ian et e, mmen w2 e
133w A W Wit T g d A e e s e aoen
k. i mepEE gEaeE B k) mae foe e . @ amrdm S = e
wifw ik A men wdm m mmeandh A e s Andh fe e b wm gE
£l
mmlﬂnwt@mmﬂhhﬂ
(1) wax ymemd fk w0 finres o wam A9 el W s gten srEETETET 9TH

wm dvm Al

(2) WTEATEN TETN SERTTREA W= w1 @il were s seEE caE s
= Pty owta watE am

T WA w= ZrEvitl weree srearen avl wivA Aen, ahe aEaas T g
wrgam

(4) T A, v wEosin S BT AT R W AR, 3 A
Y U ST e

A group of traders in a certain country has decided to take their whole taluka

‘offshore’ in protest at the insignificant amounts of income tax paid by big

businesses. An association of shopkeepers from the town want to use the

same controversial loopholes favoured by huge multinationals so that they

too can legally avoid this tax. One giant multinational, for example, has been

branded immoral for transferring profits out of the country and into the other

countries, where they receive favourable tax deals. But the shopkeepers of

the town cannot have it both ways. If they believe it is immoral for these

multinationals to avoid country tax, it is immoral for them, too. They should

continue to pay country tax in full.

Select one of the following, that if true, most weakens the above argument.

(1} Small businesses acting alone cannot obtain the same tax breaks as the
glant corporations

(2) The only purpose of the protest is to pressure the government into tackling
tax avoidance by big business

(3) Every time the government comes up with a way of tackling tax avoidance,
lawyers simply find a new loophole

(4) One of the town traders found that last year he paid seven times more
corporation tax than one multinational company
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88. T el it SEeinDaray’ m frewd 3w e v 2 e s,
L F
A 40 farend| aften avfiof wet,
b. 10 fargreath whian qoi %eft aft oeE A aftdd @ seefed @@ i,
c. il wretem Frameatel e wfien qof 3 s S 1 3 = A,

- il wreen fiomate sen sl frorafte 40 13 A am,
(1) ab
(2) b,c
(3 ad
4 b,d

Identify two facts that prove conclusion : ‘Ten students failed the exam'to be
always true.

Facts :
a. 40 students passed the exam.
b. 10 students did not complete the exam and so neither passed nor
failed.
c. Number of students who failed outnumbered those who did not complete
exam by 5: 1.
d. Number of students who passed outnumbered those who failed by 4 : 1.
(1) ab
(2] b,c
(3) a,d
(4 b,d

Wem WrETHTA! WM / @PACE FOR ROUGH WORK P.T.O.



46 R17

56. &mmnﬁmmmmm.

() o[- e [ 1

E:In:t thl: appropriate image for replacing the question mark in given
relationship.

'l &
A
| - \

(1)

o @ (W @)

57. TUEE EE 91 TEE R v SR e st 30, od W i g,

wal v e woR oR TR e TR geeE S e waee e AL
T AT ; go — 2°
mmgn%ﬁ@mw%ﬁ sufn “man 80% e
TAGRIH TET THTE SAvA |1 T

TUTE AT e manie e S e R, jl;

(1) % 20% 32~

(2) F9% 5%

(3) 20% T W=

(4) AWk 25%

A referendum was held in the village Nimboli, to determine whether it should
have a library or not. All adult members could vote; all of them either voted in
favour of having library or voted against it, or did not vote at all.

According to the local newspapers :

‘80% of those who voted, voted in favour of having a library' and ‘80% of the
adult members of the village did not vote for having library in village’,

Select percentage of the adult members of the village voted against having a
library.

(1) Exactly 20%

(2) Exactly 5%

(3) More than 20%

(4) Exactly 25%
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s8. *ﬂ(ﬂ}'ﬂmﬁﬂ!}*mgrif;mﬁﬁa}.ﬂg}mh { etz o Wz vl S e,
ﬁ#ﬂmmﬂmﬁﬁmwmmmﬁm@m&ﬂmm%mm
a3, W i dewige whhefle den sl oen fred, A i e i
WA Fan g wam Frafin A, s s g wm e A e e dem s e

LT E1f) F, AT siereTe w FA. T aE o
12.5% 9 31 fesa, awaren fawmm amEre o wem. 9 O SRR SeeaH wTE T
yaeten safer @ @ dam, e ffay fireags v o= ot sEreamd s s,

(2) IR e ol e W -, fim, st R e AE AR e

" wrdten fuea w3 ofomf sEide svens 9 s g s sl
ST AR it whaw whaen fEm 3,

3) T e w @ =i 75 sedtem o s et TRt E AT
T T A YA FIIEUR A w8 semey A @ A,

(4) ==, svelt, oo, AT, Feg W urETE SOaiE w0, A, 39, i, 9,

Rala (Italian Millet), Sava (Little Millet), Harik (Vargu), Varai (Barnyard Millet) are
rich in amino acids, fatty acids and other vitamins. They contain erals that are
iron, calcium, magnesium, phosphorus and potassium. These food components
assist in the functioning of hormones in the body. The amount of glucose and
insulin produced in the body is controlled by them. Since their digestion is slow,
they stay in the stomach for a long time, so you get the satisfaction of being full
by eating less. They are high in lecithin which strengthens the nervous system,

Its phytochemicals reduce the risk of cancer. Blood cholesterol is reduced. Whole

ins provide 12.5% more protein than wheat. Sava is used in liver disorders.

ince millets are gluten-free, they can be consumed by people with gluten

intolerance. In short, whole grains are useful for body health due to various
characteristics.

Ehmse the one most reasonable fact that would weaken the above argument

(1} South Indians whose food mainly consists of rice, nachani, kuttu chana,
tur, udad do not suffer from digestive problems.

(2] Hwheat is completely excluded from food, the person does not get B-vitamins,
zinc, bran, which are important elements along with gluten, and as a result,
the beneficial bacteria in the intestines are depleted and the immunity of
the intestine increases unbridled and rarely invites cancer.

(3) People with congenital celiac sprue cannot digest gluten in their small
intestine, so they have to eat foods where gluten is not detectable.

(4) Eating wheat is not inevitable as pulses, oil, milk, meat, fish, eggs,
vegetables, fruits etc. are consumed along with jowar, bajri, rajgira,
nachani, kuttu grains.
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(3) =it E-anflw Ao SD =R wearlt Evarerd) MeEEa Fed .
(4) wnft -anfifs R SD g AR Evarerd s See i

There are security experts, as well as ex-fraudsters, who are experts in artificial
intelligence (Al). All people who are experts in Al are invited to join the team
of security designers (SD) by one organization.

Select one of the following that can be logically inferred based on the
statements above.

(1) All who are encouraged to join the SD team are security experts or
ex-fraudsters.

(2) Some who are encouraged to join the SD team are not security experts
or ex-fraudsters. &

1
7% »
(3] Some ex-fraudsters are encouraged to join the SD team. w I
(4} Some ex-fraudsters are not encouraged to join SD team. »

ﬁgmzﬁﬁwmmﬁm <
(1) 700 2) 600 (3) 550 (4) 450

Mina, Jiva and Faru share out a certain sum of money between them. Mina
receives 5/8, Jiva receives 0.25 and Faru receives Rs. 75.
Select options that indicates the original amount,

(1) 700 (2) 600 (3] 550 (4) 450
61. 114 R (26 Ve Wﬁmam@mﬂmmﬂamm
qu’bx{;‘f"’ 154 1 aﬁﬁﬁ_ == T 20 W vamE e e e
g%~ o HEHF B wEm grEa v fee,
, iaml'?ﬁ (2) 200 (3) 220 4] 70
3 ile playing 11" match, a batsman is out for 26 runs, which raises his

batting average for the season from 15 to 16. Select the number of runs that he
should have scored in this inning to raise his average to 20 in this season.

(1) 176 (2) 200 (3) 220 4) 70
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(1) 180 #%z 421 190 @ (3) 200 #&g (4) 210 ¥z
Ayesha beat Daya by 50 meters or 10 seconds in a kilometer race. Select the
option that indicates time taken by Ayesha to complete the race.

(1} 180 seconds (2) 190 seconds (3) 200 seconds (4) 210 seconds

weldte wd framedf, sremgs anfn st gEYEEEs TEE B0 Sarem TR

At were wEe s . _

J vt sifees, siwarql st wven wan @ o s wife awien wedt wd
feramefi, seos 3 wiE=TEE fafiee srmeE e w0

P4 wald wua wE saavarEE sgen 5= TR e diem, e, anfi

d. it Terf| seiwen sauen ey sfeadefa e s T s

(1) ab (2) b, e A3) e d (4 b,d

A Director of educational institution claims : ‘instead of celebrating one day as
Republic Day, we constantly practice the ideals that made India a sovereign
republic by guarantying the pledge of justice, liberty, equality and fraternity’.
Choose two facts that support the claim.

Facts :

a. Itis compulsory for all students, faculty and staff of the institution to watch
televised display of military might of the country.

b. We conduct regular workshops for all students, faculty and staff with the
help of peace experts to deal with the hatred in a non-violent and peaceful
way.

c. We strictly implement the rules of dress, food, language and behavior
towards others, which are formulated by our organization to inculcate
spirit of equality among all.

d. We have integrated activities that nurture the value ‘empathy’ into regular
learning activities to enable everyone in the organization to respect the
diverse lifestyles of others.

1] a, b 2) b, c (3) e d (4) b,d

L
F.
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‘ U TR HEAA a, b, ¢, d, e, { 30 g ¥ W TER 3, 'n'mﬂ'li"f'i'd'aﬂﬁi‘g'ﬂ‘l
efidren smia. T'm'n’ﬂjﬁmﬂr‘h. ‘e’ W wETRATEn i ditTeE e ‘o’ S e
Sk anfin b’ = wfisen sk s g’ 3f T R 2R W o wn gden I,
et rfiefem wevin Jof am sed Bum P,

(1) ‘a' i 'R WA ‘e’ wAR=TEn Zflen M,
d 9

(2) ‘e’ WA W ‘e’ wETEm ofidETe . l
(3) ‘a’wH ® o W= giinETe
- » @ F
AST 1 0 awredten wata g ame. = ‘;: ___Lz-—f:

In a housing colony, there are seven towersa, b, ¢, d, e, fand g. ‘a’ and F’m__' ") J
to the south of ‘'d' and ‘g' and 1’ is to the east of ‘a’. Tower ‘e’ is to the north

of ‘c’ that is situated near the south end boundary of the colony and to the

west of b'. There are only two towers ‘g’ and T', to the east of ¢".

Select the statement that is always true with respect to given information.

(1) Towers ‘a’ and f" are situated to the south of tower ‘e’

(2) Tower ‘e’ must be to the west of tower 'a".

(3) Tower ‘a’ must be to the west of tower ¢,

(4) Tower 1" must be to the far east of the colony.
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.

" &
¥
E ] po '] oo
(g e (2) g (3 g
U 3 4 & g% 4 & I 4 B
Length (m} Length {m) Length (m]

Nanu wants to create a rectangular pond in his field. He has not yet decided on

the exact dimensions, but its length will be twice its width and will be between
2 metres and 6 metres inclusive. There will also be a strip of concrete of width
0.5 metres around the edges of the pond, as illustrated in below diagram which
is not to the scale.

Select the graph that best represents relation between the surface area of the
pond and the area of the concrete edge vary with the length of the pond.

po E po
e (2) g f
2 B P 2 4 & v 2

4 &
L.m;m m uw fim) Length {m) Length jm)

-
I
|l

Aren :rn'l
L\
=
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Fan f frearegs swrsE T A Iedte gen Gfin gEERRgE W AT TN W ST
W@ L T SRR W R W Oe EHE W R A AT 98 AT S
MTH TR,

i1 o (2} 2

(3) 3 4) 5

My local park has a network of paths linking various locations, as shown in the
below image. The stars on the map represent five of the park’s landmarks : the
fountain, lake, music gallery, sculpture and play centre.

[ often vary my routes and | do not always take the shortest route from one
place to another while walking around the garden. | have noticed that when I
go from the sculpture to the fountain, [ always pass the music gallery, but that
going from the lake to the play centre, | never pass the fountain unless | pass
the music gallery twice.

Select the number of stars on the diagram that can be identified from the given

information.
(1) 0 2) 2
(3 a 4 5
W WIRTHTS! AT | BPACE FOR ROUGH WORK P.T.O.
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24 29 26 719
§j |1
ik,

27 || 22 | {3, * 0

RGN
30 _ 28 P

T

[g 1I31 E%__ g (2) 39 (3) 29 _{4) 33

o |
Select the logical number for empty box in the following arrangement.

24 29 26

27 22 31

30 28

{1) 31 (2) 39 (3) 29 (4) 33

69. B weile edE gew A W U IR, C gifiet w0 Uew A U A, D T T 99 C oY anka
91 D e T v A ) A, @ mfeden i g 4 B e s 7
A1) C i F0 w2 B WY AEA

AZ) B i wel wes C ol e ’
(3) A vt v 92 B 3yan C O @ﬁ
(4 cmm_ﬂzg A TY 3R

Every element of B is an element of A. Some elements of C are elements of A.
Every element of D is an element of C but no element of D is an element of A.
Which of the following statements are impossible ?

(1) Some element of C is in B

(2) EveryelementofBisinC

(3) Ewvery element of A is eitherin Borin C

(4) Every element of C is in A
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wfn wragrf st smh, a ArsaTEn
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wam @ fafs o) F=m Tm R aE Haeh e R,
(1) 63
(2} 69
(3 71
AT 74
1 dE:-’ 2 dﬂI
Adult T12 ¥ 20
Child 79 L =
Concession® T7 T14 +-
*Under 12 or over 55

Das family members : husband, wife, two children : ages 7and 13, and mother
of wife who is in her sixties, are going to the science park programme this
weekend. The parents will attend both days with the elder child but Mrs. Das's

mother and the younger child will spend one day visiting relatives. Ticket
prices are listed in below table.

Select the amount spent by the Das family if they buy the cheapest tickets,
i1) 63
2) 69
(3) 71
4) 74
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(1) 340 _ 3 i2) 340 (3) 318 () al7

A question paper consiat of 20 questions. There are 2 options for each question.
Select the number of ways it is possible for a student to attempt one or more

questions of the all given guestions.

-3

(i 3%-1 (2) 34 (3) a8 (4) 317

wren ArvraTd) ff Wi Aen aeare duh 8 A 27 fafe d de greem wR. oft e
#sn am 7 fafye s smeEn wrEm Sl wEemes el B frEa smeem =
¥ waim Faaw wh fEm

(1) wEren Jod 38 ffe ama 27 wwen 17.75 fafaz smm

(3 mmhﬁ@ﬂa (4) =E argR 27 fofye weh s

When | left for work, the watch was showing a time 8 hrs and 27 minutes
exactly. The position of the hour hand and minute hand of this watch is
exactly interchanged when [ was back home. Select the option that is closest
to new time displayed.

(1] E=xactly 33 minutes to six (2) 17.75 minutes to six
(3) 27 minutes to six (4) 27 minutes past six

T3.

= 3, fmn, i anfn e SefigEm 0w a0 A deE, AT wEiE S weeE
ofecht ooft e w0 farmn Fove=m sl 9. wenfy S mn SEHER TE TEAE A1 ST BEW wEA
v fieft nf R w e oele dees v WAL A SR TR S e w3
fammen g smoh fremmsn aon e sl e

(1) == (2) fan (3) ¥ (4) ¥

When Anna, Bina, Ciona and Diana stand by height in a row, Ciona being
the shortest stands first while Bina comes to the third position. However,
when they stand by age, Anna being younger stands first while Bina occupies
extreme rear position. In both rows Diana remains at the second position.
Select the person who is immediate younger than Bina.

(1) Diana (2) Ciona (3) Bina (4} Anna
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Study the logic used for constructing image X. Identify option which cannot
be constructed along with dots using similar logic.

C]

% :
-3
(2) (_ k 5 @
(3)
(4] CZ]
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TR A W wE 0 By ghen 5 34 g ge = o aEEn,

Upanishads carry a weighty fable, Virochana, ruler of the Asuras and Indra,
Lord of the Suras, both once went to Brahma and asked him about God. They
were told to look in the mirror. Looking at his reflection Virochana instantly
concluded that he is God; Indra while looking at his reflection and spending
longer time in contemplation, realised that God was all. Some persons measure
development by the amount and material things that they can consume; some
persons measure their worth by all that they can uplift and diviniseé. The
difference is nothing less than that between an egocentric existence, engulfed
in its own gains, unhesitant to exploit, and an expansive one that is creative in
the highest sense of the world.

Select the most appropriate option that indicates central idea of the story.

(1) IfVirochana had thought carefully while looking at the self-image, he would
have realized the truth. .

(2) To see one's own reflection is to discover one's own characteristics.

(3) Persons who are egotistical, selfish and involved in exploiting others for
that purpose live as ‘Asuras’, while those who deal with all others with open
mind using their own creativity and assist them in their own upliftment
and deification live as ‘Suras’,

{4) Some people measure their own development by the amount and material
facilities that they consume, while others measure their worth by uplifting
others by providing abundant facilities and divine pleasures.
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Decizion making and problem solving questions no, 76-80.

76. TF wrweR o e e mo e gl T sraen g wvar S 9
mn i waeie s, mﬂmm#qqnmymmwm
st wfie womt wEe R o fomdfe o g s araEftee et SR
e w5t k. w v Preeeft s Remntd ween st of fee s 7
(1) it wiormf wdv wfimrh smen Fom @ aef smm a=E, s e
wivrmél afre wftrer=me FreTm TR o BemEr T e,

[2) SErrEE A W 3@ ) 3 e A g Seame a e
T T,

¥ WA 99 ETE A W SEavarard e Tad sl swEete /e 9.

{g} I EE WA 2varard wraes fisd s daen arE ardh ofid freavamerd
waETen ik wftwn weiwa g g,

You are working for setting up a new business venture that requires a license

from State government regulatory department. You have submitted the

application for this purpose after fulfilling all the procedural formalities and the

required documents. Months have passed after submitting the application but

you are yet to get license. This delay is causing loss of business opportunity

than the amount demanded by a chain of persons working in the department for

granting the license. Which way would you choose for sorting out this problem

from following options 7

(1) Patiently try to convince any senior officer in the department for granting
the license as early as possible hoping that he might not expect illegal
gratification.

(2) For starting the business without wasting the time you will pay the
demanded amount as business investment.

(3) Use your contacts with any political worker to get the issue of license settled
without paying bribe.

(4) Contact some RTI activist to get information about the time frame in which
such license are required to be issued.
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You are working as a head in the department that allots government quarters
to the employees as per the norms set up by the authorities. A group of persons
approaches to your reporting senior with the request that a particular person
should not be allotted quarter in their building, because the concerned person
is from the reserved category. Your senior suggests indirectly to accept their
request but at the same time also warns that you will be solely responsible
for the consequence of the concerned decision. Your promotion is due in next
few months. Which one of the following course of actions is your choice in this
situation ?

(1) Since your promotion is due in next few months. You are left with no other
choice but to accept suggestion given by your senior officer.

{2) Allot the quarter to the concerned employee as per rules and alert the
person about the situation in which you have taken the decision about
allotment.

(3) Narrate this situation to concerned employee and request her to wait till
you get promotion,

(4) Not take any action and keep on requesting the person that she has to wait
for some more time.
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Your colleague who was heading a project is suffering from some ailment

and cannot continue with it at least for next two months. The administrative

head of the department requested you to head this project in addition to your

present work. Since you are expected to complete your assignment and this

project within stipulated time, it will demand you to invest more time and

energy. What will be your response to this from the options given below ?

(1) Since your present assignment is keeping you completely occupied, it is
not possible for you to accept this additional work.

(2) Suggest the name of another colleague stating that she is more competent
for this work and her present workload is not heavy as yours.

(3) Accept the additional work without any argument as timely completion of
the project is necessary.

(4) You will accept the additional responsibility only if some manpower is
provided at least for some routine work.
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You are a freelancing journalist. Recently vou read a novel based on documented
sufferings and exodus of people of minority tribe from certain region that
happened more than two decades ago. You are from this minority tribe. You are
very well acquainted with the realities of the exodus and the hardship faced by
people of both the tribes. In your opinion the author has used her writing skills
to emphasize how cruel were the victimizers towards your tribe. Thus novel has
succeeded in getting suflenngs of your tribe acknowledged by people from larger
society. But you know that this is only the half-truth and it is agonizing you.

You will write articles to be published in different media to present.

(1) the position of the victims as sharply distinct from and as opposed to those
of their victimizers using selected authentic documents and gain empathy
from society at large with propagation stance.

(2} fact that though minority tribe got displaced, all misplaced, majority tribe
members were not perpetrators and both tribes were misguided by their
narrow minded leaders by using evidences of selected documents.

(3) fact that victimizers were also victims of daily hardship, tragedy, and
hopelessness along with the loss of rights and respect by using selected
documents,

(4) the reality by documenting how members of these two tribes are defining
themselves in relation to their respective narratives of victimhood after long
period of more than two decades for avoiding insurgence of hatred.
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As the education officer you are a member of the committee constituted for
interviewing teachers shortlisted for awards from the district. You are analyzing
their documents related to teaching learning processes and its impact on
learmers’ personal and social development. As you are going through these
documents you are designing probing questions related to their work. You
came across a heavy file of technology savvy person but you did not find single
documentation of teaching learning process and its impact on the concerned
group of learners. For example, this teacher has written about how he delivered
e-self-learning material for learning poem Daffodils. You will ask him...

(1) With what purpose did you design e-self-learning material and how did
you test outcome of this learning ?

(2] You must have learned many poems during your school and college
education. What purpose did this poem learning served in your personal
and professional life ?

(3) Apart from reading and listening what other activities or experiences did
you design to make learners their learning visible' ?

(4) What activities did you design to examine ‘impact of learning' this poem
on learners ?
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